ATOMIC ENERGY CENTRAL SCHOOL NO.4
RAWATBHATA

CLASS 10 - ENGLISH
Confidence Examination -I (2020-21)
Time Allowed: 3 hours Maximum Marks: 80

General Instructions:

1. This paper is divided into two sections: A and B. All questions are compulsory.

2. Separate instructions are given with each section and question, wherever necessary. Read these
instructions very carefully and follow them.

3. Do not exceed the prescribed word limit while answering the questions.

Section A

1. Read the passage given below and answer any 10 questions that follow: [10]
I know poverty and misery and I quite appreciate by personal experience what it is to be
poor, what it is to have no clothes, what it is to have no books, what it is to struggle through
life, what it is to walk through the streets without an umbrella, without conveyance along
miles on dusty roads. I have been through it all and I can understand the difficulties that
most of you graduates have to face today. I am speaking from a long experience of 60 years.
Please do not imagine that all the 60 years are milk and roses. To be able to accomplish
something, I want to tell you that you have to go through such experiences.
I admit success in life is not always to be intelligent or be strong, and it is to some extent a bit
of a gamble, but those who got their minds right and those who know their job sooner or
later, will sooner perhaps than later make their way in life. But they should not be
disappointed if they do not, they have to face up life and take it as they find it.
What I say is that the great things in life are not really great things in life. What I love is to
enjoy the common things of life. I am happy that I am still able to sleep at night provided I
have three miles walk in the evening. I am still able to enjoy a good lunch or a good dinner. I
am still able to look at the blue sky and like it. I still like to walk in the open fields and like
the smell of the Ragi or the Jowar.
We think that happiness consists of going to pictures and seeing thrilling films and
technicolor dramas. Not at all, the great things in life are the God-given things which cost
nothing. What you need is the desire to appreciate them. If you have your minds and hearts
open, you have around your things which give you joy. There is the butterfly jumping about
in flourishing colors on all sides. Look at the wonderful thing that God has given for our
enjoyment.
We have to love nature and appreciate nature and appreciate her wonderful gifts, of nature's
marvelous ingenuity, its resourcefulness, and infinite variety. It is the same thing that has

inspired me all my life.
i. How had C.V. Raman's childhood been difficult?
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a. He had lived life as a poor
b. He had access to books only
c. He had to run on the streets
d. He never drank milk as a child

ii. Why has life been termed as a gamble?
a. It disappoints you always
b. Life is good to only hardworking people
c. Even an intelligent or strong person is unsure of success
d. CV Raman has lost money in this gamble

iii. How does C.V. Raman's speech inspire us?
a. He told us easy ways to enjoy life
b. He told us one needs to be poor to succeed in life
c. He told us to work day and night
d. He told us that life is never easy

iv. What according to C.V Raman consists of happiness?
a. Seeing thrilling films and technicolor dramas
b. Things that cost money
c. God-given gifts which cost nothing
d. A graduate student’s life

v. According to the text, what should we love?
a. Life
b. Gamble
c. C.VRaman
d. Nature

vi. Which smell did he like in the fields?
a. Butterflies in fields
b. Ragi and Jowar
c. Dinner
d. Dusty Roads

vii. What has inspired C.V Raman all his life?
a. Gamble
b. Family
c. Nature
d. Films
viii. How many years of experience does C.V Raman have?

a. 6 years
b. 60 years
c. 16 years
d. 66 years

Choose the best option from the words given below which mean the same:

ix. despair
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a. disappointment
b. hopelessness

C. misery

d. distress

X. endless

a. unlimited

b. continuous
c. infinite

d. unreachable

Xi. prosperous
a. rich
b. flourishing
c. wealthy
d. fortunate
Xii. exciting
a. joyful
b. funny
c. exhilarating
d. thrilling

Read the passages given below and answer any 10 questions that follow them: [10]
January 26 is celebrated as Republic Day in our country. It was on this day, in 1950, the new
constitution of independent India came into force and India became a democratic republic.
The Constituent Assembly headed by Dr. Rajendra Prasad, with Dr. B.R. Ambedkar as the
Chairman of the Drafting Committee, took more than two years to bring the world's
lengthiest constitution to its final shape.

The enormous task before the Constituent Assembly was to frame the basic law that would
formalize India as a truly democratic nation. Democracy is aptly defined as a system of
Government by the people, for the people and of the people. The founding fathers of the
Constitution, therefore, had to ensure that the basic law of the land contained sufficient
provisions for the fulfilment of the democratic aspirations of the people of India not only in
the political sphere but also in the social and economic spheres. That explains the inclusion
of a separate part in the Constitution, called the Directive Principles of State Policy.

These principles signify the fact that the framers of the Constitution were well aware of the
wide gaps and inequalities that existed among the various sections of the Indian population.
The Constitution makers had the wisdom to appreciate that political democracy is
meaningless when an overwhelming majority of the population is historically trapped in
poverty, illiteracy, ill-health and superstition. The Central and State Governments were
expected to frame policies so that every citizen is assured of a decent living standard
irrespective of sex, caste, religion, language and region.

The makers of our Constitution describe India as a Union of States and not as a federation.
Being well conversant with the diversity of the nation in terms of the language, religion,

caste and region, and its implications on the intended socio-economic development of the
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country as a whole, the makers of the Constitution opted for a political system in which the
Central Government is equipped with overwhelming administrative, legislative and financial
muscle. Most of the nations' policies and programmes for socio-economic development
originate at the Central Government, and the responsibility for their successful

implementation is entrusted to the states.
i. The programmes for the socio-economic development originate at
a. state level
b. regional level
c. district level
d. central government level

ii. The British had left behind

a. a developed India

b. a wealthy India

c. a poverty-stricken, illiterate India
d. a strong and healthy India

iii. The constitution-makers describe India as a

a. Union of states
b. Union of nations
c. Union of territories

d. Union of districts

iv. The constitution-makers took more than two years to bring the world's
constitution to its final shape.
a. simplest
b. lengthiest
c. heaviest
d. shortest

v. Find the word from the passage which means the same as recognizing the good quality

of somebody.
a. overlook
b. appreciate
c. disparage
d. condemn

vi. Who is the Chairman of the Drafting Committee?
a. Dr. B.R. Ambedkar
b. Dr. Rajendra Prasad
c. Jawahar Lal Nehru
d. Sachchidananda Sinha

vii. Who is the Head of the Constituent Assembly?
a. Dr. B.R. Ambedkar
b. Dr. Rajendra Prasad

c. Jawahar Lal Nehru
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d. Sachchidananda Sinha
viil. is equipped with overwhelming administrative, legislative and financial muscle.
a. State Government
b. Constitution
c. Central Government
d. Supreme Court
ix. When did the Indian Constitution came into force?

a. 1949
b. 1947
c. 1948
d. 1950

X. In how much time our Constitution made?

a. In two years
b. More than two years
c. In one year
d. More than three year
Xi. Antonyms of word enormous:
a. insignificant
b. mammoth
c. vast

d. humongous
xii. Synonyms of word inclusion:

a. omission
b. oversight
c. append

d. preclude

Read the passages given below and choose the appropriate option from the questions [5]1
below:

Weeks went by and still, Wanda did not answer.

Peggy had begun to forget the whole business, and Maddie put herself to sleep at night making
speeches about Wanda, defending her from great crowds of girls who were trying to tease her
with, "How many dresses have you got?"

And before Wanda could press her lips together in a tight line, the way she did before
answering, Maddie would cry out, "Stop!"

Then everybody would feel ashamed of the way she used to feel.

Now it was Christmas time and there was snow on the ground.

Christmas bells and a small tree decorated the classroom.

On the last day of school before the holidays, the teacher showed the class a letter she had
received that morning.

a. What happened to Peggy when Wanda did not answer for weeks?
(1) She began to forget the whole episode related to Wanda
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(ii) She cried inconsolably
(iii) She planned to visit Wanda
(iv) She started hating and abusing Wanda
b. When did the teacher show Wanda’s letter to the class?
() First day of the school after the holidays
(ii) Last day of the school before holidays
(iii) During the school holidays
(iv) Couple of days before the school holidays began
c. Find out a word similar in meaning to embarrassed.
(i) Ashamed (ii) Defending (iii) Received (iv) Showed
d. Who made up speeches about defending Wanda from other girls in her dreams?
(i) Peggy (ii) Miss Mason (iii) Maddie (iv) Wanda's father
e. What did the teacher show the class on the last day of school before the holidays?
(i) Wanda's letter (ii) Wanda's drawings

(iii) Their exam result (iv) A trophy won in an inter-school competition

OR
Read the passages given below and choose the appropriate option from the questions below:
"We have, at last, achieved our political emancipation”. We pledge ourselves to liberate all our
people from the continuing bondage of poverty, deprivation, suffering, gender and other
discrimination.
a. Who is the speaker?
(i) Nelson Mandela (ii) Zenani
(iii) Thabo Mbeki (iv) de Klerk
b. What pledge does he take?
(1) To liberate his people from poverty
(ii) To make the nation free from suffering and deprivations
(iii) To devote himself to the wellbeing of his people
(iv) All of these
¢. Which word is the noun form of emancipate?
() Emancipation (ii) Emance
(iil) Emancipated (iv) Emancipating
d. What has the speaker achieved?
(1) Political emancipation (ii) Nuclear power
(iii) Absolution (iv) Supremacy over the world
e. Which country's president was the speaker?
(1) USA (i) Australia
(iii) South Africa (iv) India
Read the extract given below and choose the appropriate option from the questions [5]1
below:
Don’t bite your nails, Amanda!

Don’t hunch your shoulders, Amandal!
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Stop that slouching and sit up straight,
Amandal!

a. Name the poet of the above lines.
(1) Robin Klein (ii) Robert Frost
(iii) John Barrymore (iv) William Shakespeare
b. What is Amanda asked not to do?
(1) Bite her nails (ii) Sit lazily
(iii) Bent her shoulders (iv) All of these
c. What is the meaning of slouching?
(1) Sitting or lying in a lazy drooling manner (ii) Screaming
(iii) Eating compulsively (iv) Sitting erect
d. Amanda is getting instructions for what purpose?
(1) For looking presentable
(ii) To become a fashion icon
(ii1) To participate in a school play
(iv) For going to the boarding school
e. What does Amanda do to her shoulders?
(i) Keep them erect (ii) Hunches
(iii) Keep them stiff (iv) Keep them loose
OR

Read the extract given below and choose the appropriate option from the questions below:

I think I could turn and live with animals, they are
So placid and self-contained
I stand and look at them long and long.
a. Name the poet.
(i) Walt Whitman (ii) Robert Frost
(iii) Ruskin Bond (iv) WB Yeats
b. What does the poet say about animals?
(i) They are calm (ii) They have a pure soul
(iii) They are self-contained (iv) All of these
c. Trace a word from the extract that means serene.
(1) Placid (ii) Self- contained
(iii) Turn (iv) Long and long
d. The poet looks at the animals
(1) Recklessly (ii) Briefly
(iii) For a long time (iv) Angrily
e. What does the poet intend to become?
(1) A child (ii) A bird (iii) An animal (iv) God
Choose the correct options to fill in the blanks to complete the note about Vandana
Suryawanshi.
A teacher from Maharashtra has become (a) _______ first foreigner to be chosen for the U.S.
Space Foundation's elite 2012 Flight of Teacher Liaisons Programme in its 10-year history.

[3]

7/10



Vandana Suryawanshi of Vidya Valley School in Maharashtra is (b) middle school

educator (c) has been teaching Biology, Earth Science and General Science for 20 years.

She has also been awarded by CBSE.

a. (i) the (i) a (iii) one (iv) an
b. (i) the (ii) an (iii) of (iv) a
c. (i) which (ii) who (iii) that (iv) whose.
Choose the correct options to fill in the blanks to complete the narration. 3]
Father: What are you going to do?
Son: I will phone the warden.
Father: What's her name?
Son: Jenny, she is a very helpful person.
The father asked his son (i) to do. The son (ii) phone the warden. On this the
father asked (iii) . The son answered that it was Jenny. The son also said that she was
a very helpful person.
i. a. what he is going
b. what he has been going
c. what he was going

d. that he was going

ii. a. asked that he would
b. replied that he would
c. told that he would
d. replied that he will

iii. a. what her name was
b. that her name was
c. what was her name

d. if her name was

Choose the correct options for ANY FOUR of the six sentences given below. [4]
a) _ Taskyouafavour?_____ youwork on Thursday night this week instead of
Friday night?
a) Might, Shall b) Can, Did
¢) Would, will d) May, Could
b) He__ rather have tea than coffee.
a) might b) should
¢) would d) could
c) Babies __ when they are hungry.
a) cried b) cry
c) cries d) are crying
d) Look at the drunken driver at the end of street! He___ an accident.
a) is having b) will have
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c) is going to have d) has

e) The children of the man who works withme __ broken the window this morning.
a) had b) were
c) has d) have

D According to the studies, dolphins, whalesand ______ other sea creatures use highly

sophisticated navigation systems.

a) each b) any
€) many d) much
Section B

You are Ms. Monika Pundhir, the Sports Instructor in Army Public School, Agra. The Principal [5]
asks you to place an order for buying necessary sports equipment required, you decide to
place an order to M/s Sethi sports, Jalandhar. Write a letter placing an order for the same.

OR
The condition of the public park in your locality is miserable. Write a letter to the editor of a local
newspaper with the help of the points given below. You are Ranjit/Reshma.

o Poorly managed parks

o Heaps of garbage everywhere

o Boundary wall is broken

o Very dirty animals resting there

The line graph below shows changes in the amount and type of fast food consumed by [5]
Indian teenagers from 1975 to 2000. Summarize the information by selecting and reporting
the main features and make comparisons.

Consumption of Fast Food by IndianTeenagers
120

- \/\ )
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== Fish and Chips
40 Hamburgers
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Year

OR
The table below shows the results of a survey that asked 6800 Indian adults (aged 16 years and
over) whether they had taken part in different cultural activities in the past 12 months. Write an
analytical paragraph by selecting and reporting the main features and make comparisons where
relevant (150-200 words).

Participation in cultural activities, by age
16-24% 25-44% 45-74% All ages 16 and over %
Any performance* 35 22 17 22
Undertaking any crafts 11 17 22 19
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10.

11.

12.

13.

Cultural purchases 11 17 18 16

Any visual arts 30 16 11 15
Any writing 17 6 5 7
Computer-based 10 9 5 6

* Dancing, singing, playing musical instruments and acting
Answer ANY TWO questions from (a) to (c) and ANY TWO questions from ((d) to (f) in 20-30

words each:
a)  Whatis the age of the girl in the poem 'Amanda’' ? How do you come to know her age?
b)  Why did the narrator follow the pilot of another aeroplane?
c) In what way was Wanda different from the other children?
d)  Mrs. Pumphrey said, “This is a triumph of surgery.” What do you think about this
statement?
e)  What did Griffin tell Mrs. Hall about his uncommon appearance?
f) Does Bholi enjoy her first day at school?
Answer ANY TWO questions from (a) to (c) and ANY TWO questions from ((d) to (f) in 40-50
words each:
a)  Describe some of the activities of the tiger as stated by the poet.
b) Why did Jeanne not recognize her friend,Matilda?
) What type of man was the postmaster? How did he react to reading the letter?
d)  Why did Hari Singh’s heart sink when Anil met him in the morning?
e) How did a book become a turning point in Richard Ebright's life?
D What does Anne Frank tell about family in her diary?

Write a character sketch of Lencho.

OR

What made Anne decide to write a diary?

Mrs.Pumphrey has a deep love and care for Tricki. Explain.

OR

[8]

[12]

[5]

[5]

'The Necklace' reveals that vanity is an evil. It may bring joy for a short period but ultimately it

leads to ruin. Write your views.
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Solution
Class 10 - English
Confidence Examination -I (2020-21)

Section A
1. i. He had lived life as a poor.
ii. Even an intelligent or strong person is unsure of success.
iii. He told us easy ways to enjoy life.
iv. God-given things which cost nothing.
v. Nature
vi. Ragi and Jowar
vii. Nature
viii. 60 years
ix. Disappointment
x. Infinite
xi. Flourishing
xii. Thrilling
2. 1. (d) central government level
ii. (c) a poverty-stricken, illiterate India
iii. (a) Union of states
iv. (b) lengthiest
v. (b) appreciate
vi. (a) Dr. B.R. Ambedkar
vii. (b) Dr. Rajendra Prasad
viii. (c) Central Government
ix. (d) 1950
X. (b) More than two years
xi. (a) insignificant
xii. (c) append
3. a. She began to forget the whole episode related to Wanda
b. Last day of the school before holidays
c. Ashamed
d. Maddie
e. Wanda's letter

OR

i. Nelson Mandela
ii. All of these
iii. Emancipation
iv. Political emancipation
v. South Africa
4. 1. Robin Klein
ii. All of these
i. Sitting or lying in a lazy drooling manner
iv. For making her presentable
v. Hunches

[y
—-
—

OR
a. Walt Whitman
b. All of these
c. Placid
d. For a long time
e. An animal

5. a.the
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b. a
c. who

6. 1. what he was going
ii. replied that he would
iii. what her name was
7. Choose the correct options for ANY FOUR of the six sentences given below.

a) (d) May, Could
Explanation: May, Could

b) (c) would
Explanation: He would rather have tea than coffee.

¢ ()cry
Explanation: cry

d) (c)is going to have
Explanation: is going to have

e) (d) have
Explanation: have

)  (c) many
Explanation: many
Section B
8. Army Public School,
Agra
6th July 2018
M/s Sethi Sports
Rainak Bazaar
Jalandhar,
Sir,
Subject: Supply Of Sports Equipments For School
Through this letter, the sports committee of our school has approved of certain items of sports materials
manufactured by you.
The list of particulars are as follows:
i. Hockey Sticks - 15
ii. Tennis Racquet - 20
iii. Cricket Kits - 20
iv. Tennis Ball - 10
v. Wickets - 6
vi. Volleyball Net - 3

We request you to give a 15% discount on the purchase of the sports equipment and a further 10% discount
that is usually granted to the institutional buyers. It goes without saying that you will have to bear the mail
and other expenses involved in the dispatch and delivery of equipment.
All the items should be in good condition, well bound and packed properly. Any damage to these items during
transportation will be your responsibility. Please dispatch the goods at your earliest convenience if our terms
and conditions are acceptable to you.
Thanking you
Yours sincerely,
Monika Pundhir
(Sports instructor).
OR
A-6, 258, Paschim Vihar
Delhi-110 063
6th November 2018
The Editor
The Hindustan
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Kasturba Gandhi Marg

Delhi

Subject: Poor maintenance of public parks

Sir

Through the columns of your esteemed newspaper, I would like to draw the attention of the concerned
authorities towards the poor maintenance of the public parks.

It saddens me to say that parks. Serve so many purposes in a community. It provides playing space to
children, socializing space to adults and a healthy environment to people, are in a pathetic state these days.
The gardeners are not regular and the plants are not pruned regularly as a result, the park gives an ugly look.
Heaps of garbage can be seen everywhere, also the boundaries are broken. Also, the park has become the
favorite halting place of stray cattle and dogs.

There is cow dung all around, making the place a breeding ground for insects and they, in turn, welcome
diseases.

The same public park once used to be the pride of our society and a common place for community
interaction. Children too are forced to play on the streets due to their unkempt condition.

Therefore, I would like to request the concerned authorities to improve the condition of the park for the
convenience of the local residents.

I request you to give some space to my voice in your esteemed newspaper.

Thanking you,

Yours truly,

Reshma.

9. The line graph compares the fast food consumption of teenagers in India between 1975 and 2000, . Overall,
the consumption of Vadapav and pav bhaji declined over the period, whereas the amount of pizza and burger
and Kurkure and chips that were eaten increased.

In 1975, the most popular fast food with Indian teenagers was Vadapav and pav bhaji, being eaten 100 times a
year. This was far higher than pizza and burger and Kurkure and chips, which were consumed
approximately 5 times a year. However, apart from a brief rise again from 1980 to 1985, the consumption of
Vadapav and pav bhaji gradually declined over the 25-year timescale to finish at just under 40.
Pizza and burger consumption increased gradually until it overtook the consumption of Vadapav and pav
bhaji in 1990. It then leveled off from 1995 to 2000.
OR

The table illustrates the results of research undertaken in India with adults aged from 16-74 to assess their
involvement in a variety of cultural activities over a 12-month period. Overall, it is evident that participation
in any performance and crafts were the most popular for all age groups.
The highest participation in any activities was seen in the 16-24 age group, with 35% and 30% respectively
doing performance and visual arts. In contrast, other activities were much lower, particularly those
computer-based, at only 10%.
Turning to the older age groups, like the under 25's, the highest participation rate seen for 25-44 years old was
in performance, though this was much lower, at only 22%. A similar rate of 22% was evident for the most
popular activity for the 45-74 age group, which was crafts. Again, the popularity of computers was very low
for all those who were 25 plus, as interested in writing.
Taking all age groups together, it can be seen that performance and crafts were the most popular, at over
19%, whereas cultural purchases and visual arts were slightly less popular at 16% and 15% respectively.
Finally, little interest was shown in writing and computing.

10. Answer ANY TWO questions from (a) to (c) and ANY TWO questions from ((d) to (f) in 20-30 words each:

a) Amanda is around 9 -10 years old school going girl. We come to know about her age from the fact that
her parents are trying to inculcate good habits in her. But she is very innocent and immature and
does not really appreciate the nagging done by her mother. She still gets instructions from her
mother to do her homework and tidy her room. So, we can say that she is a young girl.

b) .........

¢) Wanda Petronski was an immigrant. Wanda was different from the other children. She did not have
any friends. She came to school alone and went home alone. She did not talk much. She always sat at
the back of the class and laughed rarely. She was a talented, patient and skilled girl. She was very
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good at drawing. She always wore a dull and faded dress. Unlike other children, she did not have
different dresses to wear.

d) Mrs. Pumphrey loved her pet dog, Tricki from the core of her heart. She overfed him out of love and
concern. As a result, Tricki fell seriously ill. Mr. Herriot hospitalised him and gave nothing him to eat
except water. He gave him a lot of exercise. When she came to take Tricki back, she saw that he had
fully recovered and that's why she said, "This is a triumph of surgery.”

e) Griffin told to Mrs. Hall that an accident had affected his face. So he had to cover it with bandages,
false nose, and big bussy side-whiskers. He also mentioned that he did not want to be disturbed as he
wanted to enjoy his solitude. Mrs. Hall believed him because there was no reason for not believing
him.

) When Bholi reaches the school, She is fearful. She doesn't know exactly what to do. But when she sees
many other girls of her age, she feels comfortable and happy. She thinks that one of these girls might
become her friend. After getting a book full of different pictures, She becomes happy. She never
expects that it would be that wonderful. She feels happier there as compared to her house. Itis a
wonderful experience for her.

11. Answer ANY TWO questions from (a) to (c) and ANY TWO questions from ((d) to (f) in 40-50 words each:

a) The poet Leslie Morris, in his poem,'The Tiger in the Zoo', has tried to depict the mental condition of a
caged tiger. Some of the activities of the tiger as stated by the poet are - walking along the cage,
hearing the patrolling of cars, ignoring visitors and staring at the brilliant stars of the sky.

b) e

¢) The postmaster was a very kindhearted and amiable person. After reading the letter at first he
laughed heartily but later on became too serious. He was impressed by his faith in God. So he decided
to help him and not to shake his faith in God. His decision showed that he was a God loving person. It
required more than goodwill, ink, and paper to answer the letter. He required one hundred pesos.

d) Hari Singh's heart sank when Anil met him in the morning because he thought that he had been
caught. Anil was full of suspense because the bundle of the notes he had earned was wet. He felt that
the notes had been taken by someone.

e) Ebright’s mother brought him a book entitled The 'Travels of Monarch X' which became a turning
point in his life. This book changed his life. This book explained how monarch butterflies migrate to
central America. This book opened the world of science to him and proved to be a turning point in his
life. At the end of the book, readers were invited to help study butterfly migration. He started to tag
butterflies and then he caught a female butterfly and took its eggs. He observed its life cycle carefully.

12. Lencho was a farmer. He lived on the crest of a hill. He worked like an animal in his fields, but still, he knew
how to write. He had good faith in God, with that he used to live happily. He was so simple that he did not
know about the reality of the outer world. Lencho was a very hard working farmer. It was the result of his
hard work that his fields were full of ripped corn with flowers. He knew his fields deeply because he always
remained busy in his fields. He was waiting for a downpour or a lite shower for his crop. Lencho was very
naive. He writes a letter to God. He did not know that God cannot be addressed directly. God is the supreme
power and no one can see or talk to him directly. He had immense faith in God. He believed that God won't let
anyone die of hunger. When his crop was destroyed his only hope was the help of God. His faith was so
strong that the postmaster was convinced to help him. We can say that Lencho had many qualities in his
character but was very naive for the world.

OR
Anne Frank was born on 12th June 1929 in a Jewish family. At the time Nazi's had occupied power in German.
So, the family had to move away to Amsterdam for safety. Since her childhood, she felt herself alone because
of some intimate friend. She had a nice family, but she remained depressed and bored for want of a close
friend.
She went on thinking. Then she realised that paper has more patience than people. She tried to find a real
friend. She wanted to chronicle her feelings and make sense of the world around her. Of course, Anne was
living in a pressure cooker. Hiding from Nazis with so many people in a small annexe was not easy. Ann used
her diary as a therapy to cope with not only teenaged angst but to keep perspective and her sanity in such a
closed environment. So, Anne decided to write a diary. It was her intimate friend in the shape of a diary.
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13. Mrs. Pumphrey is a very rich woman. Her dog’s name is Tricki. She has a deep love and cares for her pet dog.
She does not treat it like a dog, but she treats it like her own child. This can be seen throughout the story. She
provides it with a luxurious life. Tricki has cushions, bed, bowls and different types of clothes. Apart from
this, she overfeeds Tricki out of her love and concern. She serves him cod-liver oil and malt between the main
meals and Horlicks after dinner to give him strength. She never realizes that Tricki is a greedy dog and this
will spoil his health. She does not even refuse to answer Tricki's drooling for cream cakes and chocolates. She
gives it a very nutritious diet and no exercise at all. As a result, Tricki becomes too fat. It falls ill. Mrs.
Pumphrey immediately calls Mr.Herriot, who is a veterinary surgeon. Mr. Herriot advises her to cut its diet
and give it some exercise, but she does not follow his advice and Tricki's condition worsens. Even in the
hospital, she continues to convey Tricki her love through eggs, wine and brandy. After the treatment, Tricki
gets well. Thus, Mrs. Pumphrey has too much love for her dog.

OR
It is true that vanity is evil. It may bring joy for a short period but ultimately it leads to ruin. Matilda, to get a
little pleasure and to show her vanity, borrows a diamond necklace to wear at the minister’s party. She loses
it. Mr. Loisel, her husband takes a big loan to replace it. For ten years, both of them work hard to repay the
loan. Poor Matilda has to sacrifice her comfort, youth, softness and beauty. She becomes a crude, hard, poor
lady with rough hair and hands. Later, the irony, Mrs. Forester tells her that it was a false diamond necklace
only for 500 francs. If I, was in such a situation, I would tell my friend the truth. I would tell her that I feel
extremely sorry for losing it and would assure her that I will replace it, only if she tells me where to get it
from and its cost.
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Time Allowed: 3 hours Maximum Marks: 80

General Instructions:
1LIAUF-TAA N EEE - TS - 3 R EE -7
2. @e-31 A gt 9 axgureh Uy g8 Y &1 gt usit A Iu v fag w3 2
3. @e-a H gl 8 qUIcHa UH U@ MY & | usil 7 stiafkes faeren fog g €1
4, f&& g fdert &1 ure @va gU st & SR QS|
TSI IHWRE UH
1. fFfofeEa meria # wrgds ggas g@ 1y usHt & I fafag- [5]

TG ehdl oh FTEY Uk Si1d chl 1 AT USdT 8| hH T i3 Hh o] 8| AT ITICRIY STedrfcies sfig
STt 1T | &4 @ 1y ar 39k faudia d9TiRes ermdr € g9 af<h 81 e el 38 Tohdl g | AR il ol ohe g
gepfa @ FSI UTed e h =01 3R 31Ut HKoif & ulRAer st G5 oA &1 v A1a & Gt swrfeag Ry &t
ffa sxar 81 ora: smearfcdies 19T | o1 iR 39T ermar @ g1+ aafxh ot fordt 7 foret Tor ar e
WEABI Bl
a1 # wi hgd g, "afe g7 W<aT @ &H 8T AT af Uepfd JAY et dhH gt I Sfta |13 & oot hi
AT € G e g g1 SITa1 81 39 3T 8 St TSI o A1eas @ A1adT Shl daT ST I18d @ I8 Iuferd
o forar ST FepdT afE 3 IfRd a1 @ i B At & 37U 1Al ol IMTeaTfcH TR deh IST Thd g |
Ig gAY & YR 8 | ST ITSTIfd | JaALT U1 I18d 8, @ I8 B Smedfchieh givehior dae e 3R femmfafes
ST =ATUT, SIS, TAehdT 3R FraUTt & 1Y U AT AT G0 &2, [TTH & G=ART G ¥k 7 14|
TSIE UHTE & AR “8dah o oIy AT T @Tett UST g 8 | IFiear) i +ffts dar & forg gt gom st
ofte at Ta1 & el & Sear & forg AT AT @ gt 47 dhaet Gar 8, BT &l Tl a1, IYh! 59 YUdhl-
Hekh! | S T 3R 39 g A ug &l oIS SId gl 8l
I. d @ qfh g 1 781 8?2

i. ifR e gt Ioil T AT

ii. wifer e Y Aw @

iii. FRifer H AT SIS &

iv. Fiife e @ A g 7T @
I1. g=a 99 hl UgaT 1 8?2

i. I8 gHT 9_I g3 ST St MR AT 8

ii. o8 gRAT Wl UL} ST Y R AT @

iii. 98 g GaT AT B

iv. 9g 9ar 781 Aar g
I11. A7 & hl STearfcic TR 9ok e 3T UhdT & ?

i. ¥ Ig W1 4 hH HhedT g
ii. ST g8 ShearuT kY WTEAT @ JTACT <hl BT A81 he ohdT &
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iii. ST9 I HedTUT hl {TT @ AT hl V4T Hdl &
iv. 59 98 W1 @ A gl didl &
IV. Ui 898 hd TelTd HH hardl g ?
i. ST g7 WBT 9 hH 8] hd 8
ii. 79 g7 BT q HH P g
iii. 579 g7 SreaTfcAd QTYAT A AF gid 8
iv. ST9 g7 9a1 S Xd @
V. {8 YR &1 »H g g1 SITdT 872
i. St geria giar 8
ii. forgd Sfta A= &t searor viaHT Afga gidt 8
iii. SrgH SfraHT 6t SearoryTaqT (Afga 981 gidl 8
iv. 378 @ &3 T8l

OR
fr=ferfea ey &t wargds ggaR g8 g usi & SR fif@g-
STgT oft &t afeat frer SIret €, 3T U &Y 31U+ 81 7 dief s o1 Rarst &1 s ugTs, Sial ofk @di iR kY arlRar
& U & S 8 Afeat a9t €1 U gER @ e 3 afear st g STt €1 9o 9t hl a8 gl 8 o gudt
qfedt @ gae FaTalr AN gidT 8| PR IR ¥ IaTet 711 FgT¢ dt 79T ST |t T a1 SEH MA@ R T81 gh|
AT 3R foeaa & sigqgs 1 | off g, feeett, s9Re ok gt S 8 & diar @ FAepera arar art oft g
FARY T GeAT 7 T et A<t 8, Afeh agt 39t urt 77+ g Sft it Ser @ fAaheren A8 STl
TR gfkaer A rge) I & W &, & U JUT 3 H#9 8, fNT R Uer T 31fder vToTd U gl & | afear sro-ft
RIS H 3ch STUGT T TR, 1Y 3R IedTd forg Teicdt & SR IepT URTUR AT areda # A1 F9ual &
e 1 Uclten 81 a8t g1t ronsit ot off 81 o B SR I, digpa ok BT &t St 9o |71 A1, |t I8 a9 8
foh ST T g g |THIST @ §3MT g1 SR feRet 7w &t @<t «irwraff & Ae-fAdry & gt Srar @ ot St
&1 T ST 8, 8k I 141 & Y, forgd ggdt afeat o1 urht fa=n dg g) sran 21
I. AR 31 | ford dtef hga dh RuRT 82
i. STgt &t afeat fAad &
ii. STgt &t dtef fAerd &
iii. STgT &t Afear 78T et 8
iv. S8 &t oftef gt e €
I1. T92 St A<} fohd /AT SI1eT 87
i. ST faema gidt 8
ii. foraenT gudt afeat @ e sarer G4 giar g
iii. St erfere guria gi<dt 8
iv. Sit &g # et 8
I11. ‘TR 7 U1 | 7171 fa=imer 7Y @ |Afh= Iant urt A7 g &l STe1 G 781 a1l - & ATegH & dAgeh T ShgT
TTedT 8? W HIfSy|
i. 71 aes Afeat SR STa Wl ot AT T4 8
il. 77T 3R GHET T AT w4 8
iii. 7T & S AfeAr s A
iv. T Gen faermer 7
IV. Terier & Srgedt 9e fopd 9141 mam g ofk ai?
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i. STgT sk Afear s e §
ii. STgT oM I AdAd 8
iii. sTgT Afeat gqz A et &
iv. ST8T U @ 31ferep 9TV Uehd gidT &
V. 9137 &hT fIenTd e 31a%g giaT 87
i. ST9 atep wTwTSHY BT At &g gl glaT 8
ii. 519 3 AT T A &< g ST 8
iii. 9 sres AT} o1 A a3 g ST 8
iv. ST 3 Tfedt 1 A Sra%g T8l glar 8
f=forfea Freiv #it eargde g e &g 7g gsit & s dfSg:
fohea g1 ehga™ ehic gA AR Uy R 3T foerai,
3R SR a8 fgR A 1 Y e dra g
fohg 781 R 71 4 Uy R Fgax fhAT diar g1
A4 99 g7 HET 8l
gl gut & AfTa A% IRY SR [AfAR-a7 B,
T8 IY TE I STt 99 T TR TRYTH,
R AG A df o1 & A d@fore @1 dar gl
A4 99 g7 HET 8l
e deh 3gR Gohil AR HIE T JOhTH WA
e deh HHY ST UTIT SeTST AT I7 TR
ATG &l gt A @ gt 3 a1 drar g1
A4 99 g7 HET 8l
1. ATd & Q= 1 gl ek urar?
i. TR I
ii. srerg ATEY
iii. fFre=zar
iv. g
I1. Tredt ATg &t 7S Sl Bt 8?
i. IGhT TSR & et |
ii. 39 uial & ad|
iii. I9&h T & ad |
iv. STIeTST & det |
I11. 'IYAT @ g1 1" 39 Uf<h @ fohg ST Y 3R Hoha fovar mam 21
i. 3o+t gfgal o1 & @
ii. gefifer grr gfgar & 4 &
iii. S1fey &Y @I
iv. 378 @ &3 T8T1
IV. ShTedis & SHR hfd = or diar g2
i. e
il 9T
iii. 3epT

[5]
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iv. g1
V. T 7 sroeht srfedrat fond g 7 &2
i gzt
ii. T @Y
iii, T @Y
iv. AT &t
OR

fFfefEa sraiv # wargds g 9 Ry 79 gsit & SR §fSg:

g9 Ude &t T3 foRrun §, g9 f&m1 & sreites g
g1 AdH 9Rd & dfes, dR, IR, 7R, sraeti
g9 Ugdt 1 fgwifs &, I @i hr dd €1
g4 ¢ Yifa-gg eroft &, Big Teft &t 33 81
dR Uy AT Y siral &, g7 9t IfSrara g1
T, IHAT, f8E ATHTR & §H g1 3@ard g
TA-H-49 gH WR Fa,
foran, forat s1a fégeam!
BH 9Yd 3, il R &, e 3R 7Y & fAgon
o R o1 dst TR T, HftaR o1 9 1 741
Ueh 10+ Tsiiad fSi9ept, Tah 9949 9T gTAT8d |
fOra=T fsT @ YT AR A Ia=1 g1 SR & dA|
YR-YR AT ek hiud & fiTeh! ddThRT R
Tef Arerar o1 301 # Skl ufdy derart wi
gH I dRI Y dae
foran, forat s fégear|
I BT & g7’ HI8?
i. 7% AE & Tagas
ii. @fm
iii. ¥R
iv. gRT= Ui
I1. RAaTHT fEgEam iR RT-eRT =ATSTaR H3AT I18d 872
L o
ii. gde
iii. a9
iv. o
I11. “31eT 3R 7Y & fAgror fohg sgt mar 82
i. der97=hl Al
ii. ATTReAT Y
iii. YRt & geSit @t
iv. SIAT 3R UET &l
IV. 7t vRd & @fa Hd 8?2
i fiR -7z
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3.

4.

ii. orefiR - TiefiR

iii. €fiR - apmafiR
iv. arefiR - apmafir
V. IR ug' ford sgt mar g7

i. 9T ATAT Y

ii. ATaT @Y

iii. @ =t

iv. gd<it Y
faaforfaa ufg usl 7 @ Al 9R & IR {ford:
frafarfEa aret @t Gg are 7 uRafda HifSg -

a)

b)

c)

d)

e)

» I H R AT
» hIER o PR A ST 7 GHI|

a) {3 8! ST T 39fery I 7 aplg

Tl

C) XA H g g7 & hRUT A ST 7 et

fafafaa area o fAy are g -
IR AT I TS AR IAT TAT

a) dtchIaR 37T d AT U= I8 3TTarst
TR AT 7T |

¢) SIS AT 81 TrehIgR 31T T

b) e T A swtew uT 3T A ST A
gahT|

d) I & i g1 3afae § &1 9 o

b) IR mAT 3R AT MR TAT
el

d) TR 3R IATATST AR TAT AT

A9 Yok Gl 3T St &S 81 AT1 @ifhd IudTeRy T e Jd3ql

a) fasiyor Iuarey

¢) IHT IudTeRT

b) 94T IUaTRy

d) ferar fastwor IuaTery

forarsit = s a1 I - TTAT & SR R &IF & UhR T aei g ?

a) 9g<h are

¢) 93 a1 ™

b) sy are
d) ferar fasior

39 hgT| Ig STAYR ST 38T 8| - ITery o I sy arery giom -

a) 3G dgl foh I8 el TAYR ST
¢) I8 el TR ST 3G THT HgT|

faafafea o ge 7 @ frdt IR & IR QfSa:

a)

b)

)

STeteh O fer@dT @ - TRy ol 3fd e ar=d g -

a) ST o gIRT U3 fora Sirar 81
¢) sTefeh U foradr o

Shjar=d A forgeh! ugTar gidt 8 ?
a) ahdi i
C) 9Tg !

¥ T gYTAAT ITAT I BT B -

b) IF YA STAGR A & & a1R A gl
d) I T YT a8 el TIYGR ST

IVEIGEERERGECIRI!

NEIGEERERGECH

b) & &Y
d) forar i

[4]

[4]
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3.

6.

d)

e)

faafafea o gel 7 @ frt IR & IR QfSa:

a)

b)

c)

d)

e)

a)

b)

c)

a) Haared b) & g+ft
¢) Shearea d) wfare
379 dt IeT SIY - a1l o forg IfRd shdjar=a g1 -
a) S dl IAT g1 STl b) 39 af Tt |
¢) 319 at TA-T TS| d) 39 T 2|
U sradar ar faarar e A h el ‘A8l @iy &I AT AT gl
a) shqareg b) wfaren
¢) fastor d) Hreer=a

QIMEIL | g Sgd 311 srd fhar - 1@iferd ug & farg 3fRd ug uR=a gy

a) frerarfeatas
¢) SIS Yh

b) Geuaies
d) feranfasteor

TIAT hTH R @] 8 - ifehd ug o forg Ifa ufterg ghm -

a) 9Hgardeh 9

c) Sifaaraes g3

b) geuardaeh T
d) =afwharaes g3

gg ohel AT - a1’y H @iferd ue & ferg 3fa ue uf= g -

a) 3= YIyardeh Ga-TH
¢) Fsrarae gdamm

gg Ak [Fedr 8 ?
a) Afgaras gdama

YKl

Sfaaraes ferarfastyor o1 3T e80T 81 -
a) TTAT IST a5t WITaT 8|
C) ShTAT BYST aSl |TITaT 81
faafafaa ofg vl 4 @ fordt IR & SR &f9:
&hgd, ded, fagrd, feq, f[¥aq, afsaa
W WiT d d & 994 81 91 I1d|
IuYh Gfch # Ugch 39 AT 8 ?

a) da 9
c) YR I™

&R 7T o1 WRlt 919 AT g ?

a) i

¢) ™18

fafafea 7 @ Ik w3 &1 e sergor gfagl
a) AT A fore Trarhl ot 3rrer @Td gt

b) grs=edrdch gaaTH

d) uLaTEeh gaaTH

b) GraYaTaeh d-Tq

d) fAepraraes gd=m

b) I IR AT 8|

d) I =181 d HHTET 8|

b) k™

d) o™

b) g9
EUED

b) AfY g T A7 guR|

[4]

[4]
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Y &t sroft dife Jgrd oITd &1 eI &) UTad g g9 4 o & @E

AR

¢) ¥ 9 Fgdl § 9@ | YPAR Ad ST d) AR @t fiReR MUt g@=t 9 A
ag,
g & ot g & uxgd 9a1 A
el

d) wWHfraAsimgag?
a) IR b) &
¢) d= d) g

e) AT ol hiud 3R Geaford g4 fohd 8 T SrTa 872
a) YR ™ b) T ™

C) hoUT ™ d) a &
fr=forfEa meriv #t eargds ggar g8 g st & SR faf@-
UraTe & oIt I8 Tk AoteR a1d ot dfeh gTeeR 9189 & forg afera iR gfad &= areft | ar=it ag &ies & 99
@ 91 qfd & 3 fora 'gfdeR AR AYATeT aTens e ol 31edTUeh UTI d9R = AglH-+R # Hfd a1 Ieh
33 o1 arer R fear g &1 oft &t gt Afcha ueuR d uRerft Tw\T Y g1 ST - HigdrdT - T§ T 781 B
U1 T | AT hHRAL T gt 3R S thet BT ST | AT FATA-TTA ‘G 3R AT & Tz | IHT ¢ 7T g
T YeUR T ISAT T & TR The fohar g $iR ag fehel a1 g1 3.......!
L. uTaTe & forw o a1 At ot ?
i, TcUR T THT
ii. Td &1 THT
iii, gfF
iv. gfd R @1 g1
I1. TIER A8 <hl ¥ A hed &I 3rearueh ‘SR I UT1?
i. it ag gfd W I\ TET A urEm o1
ii. oifer I gfT st A8 a8 ot
iii. Fifeh IT= TR T IWT AT
iv. FifeR T\ ge M 97
I11. ETTER ATgd = AdToit <hl UfaHT R IAT 7 81 &1 HIROT Ag! admar ?
i. IR & TdRY | TWT ¢ ST
ii. TcUR ST IHAT AT
iii. sTg &1 AT
iv. g 1 sreT 781 g
IV. gfd foraat s=rs of1?
i. gTeTeR |Tge A
ii. sreaTUes =
iii. I=g 9
iv. graTe A
V. 8TeIER 9189 & forg g areft ara Tt of1?

i. ASER

[5]
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ii. g9 areft
iii. afera ok faa
iv. gEl &< areft
faferfa 7 & frgl 2 usit & IR a8 ey ez o
a)  Adrsfl & qfd gl wR oft?

a) Algeet A b) 28R & sl &t IR W

¢) TRuTfereRT # d) 28R & Y& ISR & J&I AR W
b) &S wrelt AT R foRe Ton R ITeT @ IR RIAA goch g@t gid 4?

a) 3¢ b) sivrsft

c) fedt d) gt
C) IR gooh Y g fohe it @ g€ oft?

a) I3 gl b) SigaTe

¢) &reft d) =R

fraferfea sreien @) ez smenfRa usit & IR dfSg-
S, g 8t Sifd seurfh
JTORY IEd A @ d, AT J SR |
R urd T8 siet iR, a1 39 3g 7 &t
T ST AT dl <hl TR, §& 7 dThT AT
ifa-=dr & urd 7 i<, gf 7 ®g it
Y& ST gH WY, R AT ST gt
1. 39 ug A fohg {11 1 U g3 82
i. STST 7T
ii. sraeft urom
iii. @ Seht
iv. I8 gy
I1. Mt 1 Iga & ITH= WA oht 'IrTeT 3R "Wieft’ a1+ 1 ST T UT?
i. TeTe HAT
ii. AT IS
iii. g1 e
iv. 99 FamT
I11. TTAT I5a Pt TST HIALATAT T hgal 872
i. 3ga FOT & AU /A &
i Sga U F dAd qh &
iii. Igd WTATT & W=h &
iv. 3gd el Y ¢
IV. MfeaT srot gormr forad o 381 872
i. gt # dt Y At @
ii. GFR &6t g |
iii. Tg # forudy fifeat @

[2]

[5]
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iv. pAA F QU &
V. Q3 uTd Rt R ref 8?2

i. A T =T
ii. I P GA
iii, gRarg Y gar
iv. Tt aRE
10. f=fofEa ust & SR 98 ey gaoe o [2]
a)  &fagd 4 4l oA ard kW
a) afIs b) & gaft
C) TRYRH d) fasgfas
b)  Sft Sftaw o s wfa A forgent sqmar 8?2
a) T3y Sfte= b) Iu<h ot
¢) raT 3R fiar d) I 3fiR SmeyuoT
GS-9 quIfcHeh U
11. f=fafe o & 39v 25-30 et 7 &fSia: [8]

a) ST 9ITd i =t AT & STaRsST ol SRl T of1?
b) @ Sl Aa1d G1gd & b gra-wral @ Aggy g foh & I8 aradita e & forg Iges 781 87
¢)  TRUTfereRT A AdTstt A T TRIE R A Fi gease i fe@rs oft?
d) AEH I HIeR gooh St ATFART Hoon Fi feed THE T et 82
12. fafafaa vl & o S [6]
a) 'GTe Sigdt B 91 A d& it U1 T vl foh AShl §IHT IR dTgeh! ST fears |7 &
b) "SRR IR W JUT HI YERTA" e 3l 'IATE' Shfddm & MUR W U U] A T HR AATZY |
c)  deHu A R Aigr &Y Far-on fatward aarg 82
13. Frafofad usi 7 9 fgt &t ol & 3« 40-50 <r=al | SIS [6]
a)  'HIdT & 3ffad’ & TR UR d@dh o fUdreit i faiwdard ferfEg|
b) T SfSITSY o &SiT hl TRRITHT T T SIRUT UT? IGeh! TRRATHT &t 3T fehd dRE deh-TiTd SgRIT?
C) -G ETY SIS # dhgl 1T 8 foh shereit R foRet garra &1 71 81T avar &, U1 ai? 9Rd & 31
UTepfcleh TITHT et aRaT ST | Tagach <l eRIT AT 81 Hahdll 82 TUE RIS
14. fr=fafea d @ fadt ge fawa w 80-100 srsaf 7 srg=ede forfed: [5]
a) e fAe 3R g fawa R Ry g daha foigant & e wR srgede faf@g
» RS fRrem ot oref vd A<
» QRIRER fRrem SR AT
» PUTT 3R 378 gRomy
b)  faETs Y Fedt gE dteniraan fow wr iy T Gaha feigsii & smar W ergede farf|m|
« fIFTO Y AR
» famToA @ 819 aret ey
» famToet @ 819 arett grfaat
¢)  WRftaT o1 87 vy W ey g daha fagei & smuR W srgede @y
» Sfiad | ey &Y sasaehar
= 3UHT &Y T 8?2
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» AT R 8?
» TR T hI?
Aex Ar3foret giaem o forg g-dst I, Fead fe@m & forg A81-ag IaHATd §U 3710+ BI¢ 1S ol ep U [51]
fafaul
OR
edT ATFIT h HRUT AT o AGgR R ATRhdT # 3¢ URad- R U fIaR Uehe ehxd gY fordt gamam-us
& HUTeeh @l AT 80-100 2rsat 7 ux farf@y)
3myfek dop-ier @ R gt o1 famros R HfSrd [5]
OR
fopeft sffaet 9T &t faeht T araT Uah fasma daR ifsrel (25-50 <rsat 5).
3Mq ter g €1 foneft AT Sft 1 WiF ST 81 a8 1T & ATaT Sit 9 aTd ST 918 d 8 | @fch SMgeht AT St [5]
R IR T &1 39 faw ot eare & T@d gY 30-40 reat 7 o farfag
OR
FIaY chl [HRTHAT ad §U 30-40 <rsal 7 Yen Haer ferf@my
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Solution
Class 10 - Hindi A
Confidence Examination - 1 (2020-21)

TS-3 RS UH
1. L () i sd g i wrarqAg
IL. (ii) I8 gALT Wiefl UST SI1E bl MR a1 &
I11. (iii) ST9 a8 HeaTOT h1 HTGT I FTHGT hT Il bl §
IV. () ST g0 W1 Y hH Tdi had &
V. (ii) fod Sframm &Y seamr ua Rfga gkt g
OR
L (i) et &t afeat e &
IL (i) fSI¥erT gt AT & Gy SuTeT Tt gidm 8
II1. (i) 7T 3eh AT 3R =T STerslldl T fAeT-em €U &
IV. (iv) ST8T Ueh ¥ 31fdeh oY T fAd giel &
V. (ii) ST s ATIISH T At & g ST 8
2. 1 () wame oM
IL. (ii) 39 ufdl & <t
I11. (ii) g grr 8fgat am s
IV. (iv) eI
V. () Zz T
OR
L (i) 75 Y & Feagaes |
I1. (ii) G|
I11. (iii) ¥Rt & gaeit 1
IV. (i) ¥R - efiR)
V. (i) YRd A1a1 11
3. Ffafea v uei 7 A = ar & SO

a) (d) I ¥ pigw a1 3afw & 57 T T
Explanation: & & S1gx AT 3R 'H 577 GhT T &I gl aTeRT Wl & S4ielq ITGh areRd Jgt ghTl|
b)  (a) FNhIER AT At AT TReg T8 AT AR Tl TATI
Explanation: T& T 3R Ueh fId IUaTeRT g & hRUT g1 IWI<h A gl
¢ (a) fatwor Iuar
Explanation: 39 arc # 'St [T 8T AT "G’ a1 AT 511 @1 & 38y I8 faiwor Suar g1
d) (a) g I
Explanation: & Th aTRI T I&Te0T § Hilfch 389 a1 ol dTey gut 31 flg g g 81
e) () I &gl foh a8 el STAR Q|
Explanation: f& ag & STAQR SITQ - 1 IUaTRT g1 o hRUT A a1 81
4. fAfafea dra ush 7 & fh=) ar & SR &S
a) (a) ST & gRIUA forar STrar g1
Explanation: &Jarsd & shHared H Sgeld GHY hdl o 1Y 'Y TS gRT' AT STl 8|

b) (a)&warEd

Explanation: &jarsd # sdl T TedT gl ¢ 3R fhat sl & S1gER uRkafad gidt a1
c) (d) sdar=a

Explanation: &Haren Y fhar & & srgar uRafda g & gafay srfara & & &Y gurar gidt 21
d) (b)) I AT

Explanation: 3Rd &Jare agt ghm rilfch gl shdi h IJER &l fohaT 81

e) (d) vaar=a
Explanation: 3=mar a7 faasrar & oy ur: Wiaars &1 gl wanT glar gl
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5. fafafeaa oia st 4 I fF=g ar & S A
a) (a) AEaiRatus
Explanation: ag fAeaiisiud e g aifch g9 o RUT Jg! e I+ &1 BT 8
b)  (d) Afharas T
Explanation: 'TT &fth &1 g & & RUT Afhardds 9 g
0 (a) 3= YVardsh FaH
Explanation: 'ag' Joydrach T g 37k 3HRhT TINT 310 & flg g & RUT Ig SIagevarddh da- gl
d) () sHgEerEs Td™
Explanation: Ig 3ifRgaraes G6-M g1 ST T A & folg gem gl
e)  (C) eI TS a5l UFTaT gl
Explanation: 618 & 9 &Y Afd s & RoT T8 Afdaren fhamfasisr o1 Iugh e gl
6. fFfafaa dig st & I fF=gl IR & S A

a) (c) YR
Explanation: U9 & UTdT 81H & ROT I8l YR W 8l
b) (o) 3=

Explanation: IR 3 # Ig & Tl 1 & HRUT 39T R 9Ia IE 81
o (o

# 9 hgdl g 99 | GHAR A ST 73

RIS ¥ oft g ol U FaT AT J31

Explanation: I8 g5 & g 79 & I8 T TG g & HRUT IR 9 hl T 8

d @33Ir
Explanation: 3 & TR 37T gid 8 - R 7@, S, g ok §art |
e (a) R
Explanation: 30+t {07 & S ek Sifaen UF & hRUT & flid 3R Geafohd gt SiTaT g 39feiq & SR W &1
VA g
7. L (iv) gfd R =1 7 g+
IL. (i) Fifch a8 Ffd R IAT @1 o7 urT o
111, (iv) Ffd & sresT e} g
IV. (ii) sreamoe =
V. (iii) 9fera sk zfa
8. fFrfafaa & & =Y 2 usif & IR Tel A ew gy §iford:
a) (d) IR F T IR & I IR W
Explanation: 7g3 & & I6TR & I 9RTg W

b) (o) &
Explanation: WieR 1A goch guia: f8dT Ut 1 YR gRT 81O+ gt 78T <hl TN I¢ h € Ug ara ot
o  (b)SEER
Explanation: Sigei
9. L SSTHmT
I1. ThTTE R

I11. 35d UF & e Y H<h &
IV. T # foodt difeai
V. & 1ol
10. e usit & SR 8! fdeey T S

a) (c) TRRH
Explanation: &ifch RYRM IehSl SR 3T G=clt 1 &3] I @iefl 2 ST0N i &F & goh

b)  (d) T 3R T
Explanation: g% 3R 3ol

Te-9 quiichesh Ul
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11. Fafafed usi & IR 25-30 vreal 7 &iford:

a) ST oTd <Y feTaaf il & SreRst 1 HRUT 3afrg off wiifeh & gog Sohi al i R F T FA T I | TR
off 7T T ohls off IR I8 Ak g1 UraT AT | & GHA 3R o fid 71, SR &Y WreFT H o gid g oft el & vt a4
o} oft fora 781 gU | Udah v T T & folg ST 3R Sa-TAFH & 9T o1 614 3id 9Hd deh gl 1T |

b) AEH H Uhe FAT & Sea A AT SR AT TTd o gL W U & AT T Ao 3 1 | I8 U Yehid H a1
T IIHT g T 3R A W19 U g fGSeh! T e 3 ot | 19 1 o@eh Ich! R SEd I8 39 Tl he i |
AT T1Ee o 3 §1a-HId 1 SEeh oideh = HFHM T foh FaTel T1gel 39 &1 haA & foig fhRid +ff Icgeh 61 € |

¢) Hfd eht & R U1 el T fobh ATRUTcIenT @Y 321 & 3= Jfd hRl ohY TR 7ol il 3R 3reedt Hfd asie & Syrar &l
EIF o HRUT HTh! THY UM TR | o T, g1 RN SRR & e 37afe §91d g4 & g d & d 99
A U7 FAY TSI BT Thel o SIarT ARER 1 i<l I T H T HidT 7T UEHeh HAfARRAT Y gSagige &1 sidam
i SR AT ST Gehdl B

d) IER Joch AFA TOT & ARS & | Ik 74 & Ad o Ul BTN, T, A R hI0M bl a1 of | o+t Sgagdr
& HROTEN I Gerch o7 & | ATl BT RR at IFehT Heft il & I=aT T@aT AT | I BT Ted gerl ont omefiafe 33 &
Y I & | Yehe & THT I U OIS o 39 TR WicaT &d o foh 98 9RT :@ qelh ATafad g STar A7 | 3761 hROn
Y Geh A HIER 1 'HHAT HI0T ! ey a9qd FgT e |

12. Ffafad el & IR H[3:

a) #f Jrg<t & foh ITehT T # erefohat St axerdn, &, fFAearfar snfe qor @t 3@, fch= ag dgeh g1 & Ard fhdt oft yrR Y
BT, gelerar SfR +fidT § 7Ra 71 g1 QW07 3R STRITT T GgdT & TIHAT che| IU dASch] AR 13 STk T M
STERUT 1 Y Toh 3R AGehT T WA THTT SWH IHch TG dlet IGch G H AT HIGR AT < T Seh! B oh T
Y SR i +ff Afch ITh T AT TR H3aT & I /T TAER BT & A IUH! g8 Jd U91d I S1a1d & 3R Tt Srare
.y

b) IT&d et IR GaRI & | F WA TSl H3A §U R & | TTSI1 h3d GHY o T R hI R A & | et 3R gorret
e ¢ A hfd pl g G B 8 |

c) <1&HuT A fh oft IR aieg1 Y fAtwaredi & ar & war ur o & el & st dvar Y & 8 gl afch g YR A g
I & | U - Y ARl o STig e@Td 8 | 273 T THA UTeh ST 30 T ahl dd hid &, I df AR B &

13. Fafafaa usit & 4 for=8Y ot usif & 3R 40-50 2reaf 7 Eiford:

a) 'HIAT T 3Nl & YR R Ageh & fOdrsht &t fagivad Refafad §-
1.3 el oY @R g1 ST Fendll & foh o enffer g & & |
1.9 goIg STet I5eh U 9 Y Hff TgAThRR ST A 6 9 |
1i1.39eRT 3R =2 & Ak Jea o |
iV O & U il A § ggaiT A |
V.30 G & U Wl B I e B |

b) Tt fATATE & I Y TRRIF ST HRUT I & UgHATd i Aeh T foh Fa1 It fgwgea, ifch & SR Autet & gR R
ST @t a8 T Ugil? IGehT WA deh T & aifch Uieh aafth S1u eh T h) URiT I1gdT & | a8 drga off foh 39k ol
&1 T & 3R Wig | Afe 3G RS St YRR IUHABTE T H WRIGT AT ot AT URAR F I9ehT ufasT agh, 3nfier wraer ghm
ey g A g | A g |

C) ST UTehfdieh Graxdll oh hRUT I3 Shl YR T RACTRATES T STl g AT AT HY E Gohd & foh I8 399 vl aifdes
G 81 3TehT g raxal 3ararg ot faermm € Fifch agi Uap off g™ 181 8| raifch gah™ UgWUT Thel =l T Ueh STIRAT &
ST & | T T RIS 3R ek hl a5 UST Bl ad; foTddh HhRUT 38eh] FrazaT € gl Siidl | gehMer o 39 3R & 1s ea=
T8 33| foer oy el vt sgmar T 81 TR s SenfAat vt oft wieh T g AT Usar 81
WRd & AT Ui fdeh W l oft 38 & TAH G 7 & fIg Tagaeh| o R TASITRUT & HRIh A T1Q T 18T
U T Aga TR STQ fSedh ATead § Ui fdes Wl & Agd o) WE g1 ST amfg Q1 i et ag g Ay foh
3% Urepfdieh Hied el delie gl e <1 =feQ SHfiq e fder duaT a1 wqfeia I R S fSad 3 @t digt &hT
GEUINT T Tk |

14. Fafafea & & 6wt e fawa ) 80-100 greal # srgese fafea:

a) RS e sk g
RIRes Y8t a1t Ut fven @ €, o miiRes nifafafdat & gRT IRR &t Wy R &t et e St 81 kiRes
fAen™a & Try-arer 399 afth 1AM, WIS Ud HWiaHcHe A ot gidr 81 AiRes fYem & Ol o Wi sgd
HE<AYU ¢ | ST £ IRR, HF Yd STcHT o 1 Ter MU 1 8idl ¢ | T H Mid Yd R T&dT 8, a1 i G T
i &hY &THdT, STTcHTAY Ud Ueh Il i Seldl ¢ | Fafld T3 o v YRR WY i |16t 8, AT st af s AT g
5T gRT IGRT IR i fehar ST et 81
SO WM A df ga1 § 3AfAh AT TN R T & | T M I Tg THIO 8 IehT ¢ foh I Aot Sftee vt Rifeh ugfa
g1 ufgyeht 220 & oft @it & ufd ATl BT SR T g T@T & SR AN aoft & 33 SruAT @ &1 T oY Tt e e ud wga &1
& 0T ¢ foh I<h g 99 A ot I T §HYA S §Y 21 S 1 aRT Riaw aifvd s Rar 81
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A RIS F 1T = fth AR g TR 8, sfceh 3y & Sgd TQuUT Ud e Sedarstt I Iust! 9Awrel o Haror &
gGhT Trfeh T SR oft 9 715 81 Tgl ARUT S o dR-eR & T8, ot g gfaT A Y sRuT A @ B
b) 3171 & AT 1 AT T g7 gl ST Fehdl g1 31T Tt ST1g fATo-g-fasmue R o1 €1 srSi-argt hufaat gd Iaurgen
I ITE T YT § FeifSd gHTa- [AFT0 SR I ieh fU-T - ohT 8% U¥d TR hd g | foh ¥t 1Y ITe o fawa &
ST &7, IGehT fasivdr ga mfe T fe aam o forg s &Y sasaarar usdt 8| fa=mai & gRT foh &t off gam oo
IcTE Y STHeR TR, gd | vreiferd fhdl Iedme # o1 a1t sigettd 3n1fe ekt STHer Rt AT ST ht &1 ST Gehall 8|
fA=TT 1 Ig T ST 1 foh et off IcUTE Tl JaT hY Fgt GaT &1 8, AAfch = 1S AT F 310 TG T Faas a4 gER1
& Gl Y AR E Sife T IaRT ST 81 STTSThd & AU Yk §id & IUT A oh! A WRIGR! A & g URa
Hd g1 37a: ATl 1 ag i ST & foh 3§ UIgenT ol JHTa g fexaren FRIE T8 <, dfcth 10 ITE & Tgt Iun
T R | T IR T TTgeRT aeh Ug o SR fagoe 1o ded & ohet g
) W ofta 18T
Sfiaa & Rfgya atherar & fog va fAfga st &t g1 oft o sirasaes @1 99 avg g viden o foh g fon, aetd g ot
F13 1 AT T I, I aRe ey fAgH Sfiae off fefas gl g1
Qeh Afch ol AU TRIdT Qd 3D o &Y 30 18T h1 TG T AMeQ| STal dh AR STa- o @183 ! a1d &, df 73t
U U g1 UgA-foiem 1 ik 38T 8, Ty & Gon Rigreh =1 argar g | Rien 997 & aafthad 1 A st 8 SR 39
gfchar # fereh &Y AT Faifder Ag<ayul gt 81
# fieren aeR? gt fgd & arior & # Fgfth e s T, ralfer arior & H e gd gAfla fRverent a1 orma g1
Toh 3rresf fRgrer & wu A § arfifer shgan, urgde e, FRERt e 8 T4 gg Tt o &1 S Anfeef s # |6t
Y R feermera SR 3R 31T hrf quf SAMERY & | fR1eror et o a9 & g dgraes amiflat a1 sRQR vk
T, 1Y 8t BT bl GHRM 31 hif h3 & T IR & s&f R A0 Raq & g Stetfies aaifas= o1 st 79
UG 3| St SATST o FHTST h TG eh I3t T 3 8, SH{eIq H 39 33T o1 Gfd 8¢ O el ek Afdeh ehefedl &1 TH
HIA| 37 BR Sf1a- T &g g 3Gl fR187eh S-eh? THTST ahl TaT AT IUT 0 & AR & IeH &1l
15. g% TR 73 feett
33 A R08%
i M=
g UG @t
3 Ig STHh 37l UH-1dT g3 foh 39 IR grsep e Utenm # 90 ufawra sich o W fOdmstt 4 g Hiez-asfhe SugR # dahr gt
FoOT QI h &1 | TR TS AleAsich ol hl g agd sagahal Al a i onfe ST & waar oft | ord: fiarsht 3 gt STl ahl d&d
§U IR AU 389 @IET 81 TR 39T ST hid §U R §© JHaTal ald & | @1 & 37fd ST & givT e @1 S=aem
RO gt §ehd g
ol oft Sroet Ale=amsfon e foh el o oY 1 &A1 ST g8 81 ISTI US Tehell 8| 81 Gendll ¢ I8 Jralkl AIeamsfoh el ohi GUdNT &
foh=g G T @IMATTSTT J/8 ISTT US| FHRIT STEfAT 38— 3R St & TSl Ty H T&HT 3R g T YN Igd Sl 1 st off
%t & di9 I 7 s
oM 3¢ foh Alex wfhe glaur & fRig 8 | 999 s9™ & iy & a9 9am a1 hae ™ & forg 78
ST T dTet AT SR TR GHEAT h? 9d 8 IR fed T ot Fifeet g1 Gepd & g ! ft Tie & Fewelt 81 40-50 foh+t ufd gver &
3fen Y Wi | Ale ARfohd A8l Tat ey ¥ Ot g7 Ge Igd THHGR 8 aifch= THMI A1 dhaicd g IHH1G & g & @il
TR 918
aw &g

OR
Yar g
ofH Guree S,
A9 YRd <1gH,
T et
v : Tear 9T & HROT AN § 3 SgATd hT 3R ST &I 3Tk fid ST
Hgled,
TR IdTd §U §H ST &1 8N 81 BT ¢ foh AR & 3R I I 7Y Tesdl AT T §HR U & 1l IR Igd &l 37T U9
UST 8| 39 U 1 HT 3T it STTdT 8| 39 SITHI bl Athel I | ITURT HE<aYUT ANTGH 8T Rifch U Teeaddl A9 aht
I s TR & AR 18 &1 SO 39 i i Stigier &1 ¥4 e TehT| Wesdr SR & hRUT ART ehl AFRIhdr 3R
3 TagR H I 3feR 3@ & el 81 31 1T ST1E-STTg FST chiche Aol Sletd, SIad 31a Tgi UguuT I[ural # dTaR JuR &
CAREE R
3P GRT T T TSl VA b Aeh? gAR Tt et anfeat &t ik I suer defieel ¥ 4=uaig &3 § SR Tr gt 3N hid
¢ fon QU 81 311U Towoar ATHA™ ot 310 e TR # S11g & B S99 GHRT ST UGHUT <h &1 higell 94 |
YT |
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16.

17.

S Crap|
T feoett ardt

Adeq Y afeat

HuH g 0oo chdlafl T R0% ot fAsiw ge !

SF-A vfafea gt fFAmfar et O welt @ syfAc dam-ie & A1, T i e ofR Il Sge & ST b | SRR &
A @ Ffad st &1 3 Wa: gt 99y 3R i St vt # gem g1 iR & o a1 ot 7 iR wR oft @ g1 ST RS oft
R T g d 3mepviep iR afa g |

qdr
4/3 TRg AIfhE
ATt TR SR
GRUTH- Qoo U #H#
OR
1 2 5 [ [ S—— ? HIhT I
hicT BT difsig
Sl 71 o= <fifSgl
"Sredl, ST g g1 ht W |
THf g |
e
12 31=peR 2020
ura: 10:30 a9t
3TexuiR AT Sft,

O IHY Uget AT Sihd STt T thid ST ATI 3T 8- R IURAT a1 | A7 BiF I8[T, IEiA gl <hl Sid gl 1T Y JFY i
IR &1 37 3| g, 361 T8 +ft HET ¢ foh MUk A R S T3 8, I 371G Ug o |
it

OR

Gy
iR 31 Reier, 2020
gug: IR 12:01 S5t
o mifa<
74 aY <Y U Sl | A< Tg! YR AN & o T G anmuch Sfied # gon o &1 AehR S| STk F 3T GRAR Y A
3R § TGay T g YR
3MYehT A A7
fder
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ATOMIC ENERGY CENTRAL SCHOOL NO.4
RAWATBHATA

CLASS 10 - MATHEMATICS
Confidence Examination (2020-21)
Time Allowed: 3 hours Maximum Marks: 80
General Instructions:
1. This question paper contains two parts A and B.
2. Both Part A and Part B have internal choices.
Part - A consists 20 questions
1. Questions 1-16 carry 1 mark each. Internal choice is provided in 5 questions.
2. Questions 17-20 are based on the case study. Each case study has 5 case-based sub-parts. An
examinee is to attempt any 4 out of 5 sub-parts.
Part - B consists 16 questions
1. Question No 21 to 26 are Very short answer type questions of 2 mark each,
2. Question No 27 to 33 are Short Answer Type questions of 3 marks each
3. Question No 34 to 36 are Long Answer Type questions of 5 marks each.

4. Internal choice is provided in 2 questions of 2 marks, 2 questions of 3 marks and 1 question of 5

marks.
Part-A
1.  Find the HCF and LCM of 1376 and 15428 using fundamental theorem of arithmetic. [1]
OR
Classify /21 as rational or irrational.
2. Determine whether the given values are solutions of the given equation or not: [1]

X2+x+1=0,x=0,x=1
3.  Determine the values of m and n so that the following system of linear equations have infinite [1]
number of solutions:
@Cm-1x+3y-5=0
3x+(n-1y-2=0
4. If PQ and PR are two tangents to a circle with centre O. If ZQPR = 46°, find ZQOR [1]

O

S—
—

.—’,}

R
5.  Write down the first four terms of the sequences whose general terms are T, = 30 *1 [1]
OR

Find 11" term of the A.P. 10.0,10.5,11.0,11.5,.....
6. Find the common difference of the A.P. and write the next two terms: 75, 67, 59, 51,... [1]
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10.

11.

12.
13.
14.

15.
16.

17.

Determine the set of values of p for which the following equation has real roots: px% + 4x + 1 = [1]
0
OR

If the equation x2 - mx + 1 = 0 has two real and equal roots, then find m.

In the given figure, AB is a chord of the circle and AOC is its diameter such that ZACB = 50°. If [1]
AT is the tangent to the circle at the point A, find /BAT
&

L .

If a line intersects a ciTrcle in two distinct points, what is it called? [1]
OR

In figure, if O is the centre of a circle, PQ is a chord and the tangent PR at P makes an angle of 50°

with PQ. Find ZPOQ.

P —

5{]#

Q
In Fig, DE| | BC. Find the length of side AD, given that AE = 1-8 cm, BD = 7-2 cm and CE = 5-4 cm. [1]

54 em
C
Find the sum of given AP: 9,7,5,3,... to 14 terms. [1]
)
Prove the trigonometric identity: tan 6 — cot§ = 252 L [1]
sin 6 cos 0
Prove that: tan@ + tan (90° - 8) = sec@ sec (90° - 0). [1]

If a cone and a sphere have equal radii and equal volumes. What is the ratio of the diameter [1]
of the sphere to the height of cone?
Find the 21st term of the A.P: —4%,—3,—1%,... [1]
A card is drawn at random from a well - shuffled deck of playing cards. Find the probability of [1]
drawing

i. a face card

ii. card which is neither a king nor a red card.
Two brothers Ramesh and Pulkit were at home and have to reach School. Ramesh went to [4]

Library first to return a book and then reaches School directly whereas Pulkit went to Skate
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Park first to meet his friend and then reaches School directly.

Yi
Home
5 L]
Library 4'
'2. _ School

'I E

T ..D..........h-
10-9-8-7-6 5-4-3-2-19 12 345678910 x
21 Skate Park

A
i. How far is School from their Home?
a.sSm
b.3m
C.2m
d.4m

ii. What is the extra distance travelled by Ramesh in reaching his School?
a. 4.48 metres
b. 6.48 metres
c. 7.48 metres
d. 8.48 metres

iii. What is the extra distance travelled by Pulkit in reaching his School? (All distances are
measured in metres as straight lines)
a. 6.33 metres
b. 7.33 metres
C. 5.33 metres
d. 4.33 metres

iv. The location of the library is:
a. (-1, 3)
b. (1, 3)
c.(3,1)
d. (3,-1)
v. The location of the Home is:
a. (4,2)
b. (1, 3)
c. (4,5)
d. (5,4)
18.  An aeroplane leaves an Airport and flies due north at 300 km/h. At the same time, another [4]
aeroplane leaves the same Airport and flies due west at 400 km/h.

3/8



1. Distance travelled by the first aeroplane in 1.5 hours

a. 450 km
b. 300 km
c. 150 km
d. 600 km
ii. Distance travelled by the second aeroplane in 1.5 hours

a. 450 km
b. 300 km
c. 150 km
d. 600 km

iii. Which of the following line segment shows the distance between both the aeroplane?

a. OA
b. AB
c. OB
d. WB
iv. Which aeroplane travelled a long distance and by how many km?
a. Second, 150 km
b. Second, 250 km
c. First, 150 km
d. Fist, 250 km

v. How far apart the two aeroplanes would be after 1.5 hours?

a. 600 km
b. 750 km
c. 300 km
d. 150 km
19.  The agewise participation of students of a school in the International Yoga day Celebration
that was held in Central City Ground Patna is shown in the following distribution. By
Analysing the data given below answer the questions that follow:

[4]
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Age(in years) 5-717-9| 9-11 11-13 13-15 15-17 17-19

Number of students X 15 18 30 50 48 X

Find the Following when the sum of frequencies is 181.
i. The mode of the data is:
a. 17.81
b. 11.81
c. 18.41
d. 14.81
ii. The value of missing frequency(x) is:
a. 12
b. 10
c. 13
d. 14

iii. The modal class is:

a. 13-15
b.11-13
c. 15-17
d.17-19

iv. The upper limit of the modal class is:

a. 17
b. 19
c. 15
d. 13
v. The construction of the cumulative frequency table is useful in determining the:
a. Mean
b. Median
c. Mode
d. All of the above

20.  Due to heavy floods in a state, thousands of people were homeless. 50 schools collectively [4]
offered to the state government to provide the place and the canvas for 1500 tent to be fixed
by the government and decided to share the whole expenditure equally. The lower part of
each tent is cylindrical of base radius 2.8 m and height 3.5 m, with the conical upper part of
the same base radius but of height 2.1 m. [use ™ = 2—72]
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Ag’

1. Area of canvas used to make the tent is
a. TSA of cylindrical portion + CSA of the conical portion
b. CSA of cylindrical portion + CSA of the conical portion
c. CSA of cylindrical portion + TSA of the conical portion
d. TSA of cylindrical portion + TSA of the conical portion
ii. The volume of the tent is

a. mr? (%r + h) cubic units

b. %7’[’7’2 (r + h) cubic units

C. %m’zh cubic units

d. none of these

iii. If the canvas used to make the tent cost X120 per sq.m, find the amount to be paid by the
schools for making the tents.

a. 311098
b. X 88889
c. 11088
d. 399998
iv. Amount shared by each school to set-up the tents.
a. 3442640
b. X 222640
c. 332640
d. ¥ 552640
v. According to the given information, what is the ratio of the curved surface area of the
cylindrical portion to the conical portion:
a. 1:2
b.2:3
c. 41
d. 2:1
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21.

22.

23.

24.

25.

26.

27.
28.

29.

30.

31.

Part-B

Write the denominator of the rational number % in the form 2M x 5 where m, n are non-
negative integers. Hence, write its decimal expansion, without actual division.
In what ratio does the point P( 2, -5) divide the line segment joining A(-3, 5) and B(4, -9)?

OR
Prove that in a right-angled triangle, the mid-point of the hypotenuse is equidistant from the
vertices.
A teacher after teaching the chapter polynomial in class 10th wrote the sum and product of
zeros respectively on the blackboard to test the skill grasped by his students. Find out the

Polynomials that the teacher have in his mind.

i. 0 and \/§

ii. 2+ /3 and 2 — /3
iii. 24/5 and —+/5
iv. % and —%
Draw two concentric circles of radii 3 cm and 5 cm. Taking a point on outer circle construct
the pair of tangents to the other. Measure the length of a tangent and verify it by actual
calculation.

Prove the identity, where the angles involved are acute angles for which the expressions are

. . 14+sin A
defined: |/ T——

=secA+tanA

OR
Prove the identity : (cosec A —sin A) (sec A—cos A) (tan A + cot A) =1
In figure, AABC is circumscribing a circle. Find the length of BC.

TN

=] =] C

Using Euclid’s division algorithm, find whether the pair of numbers 231, 396 are co-prime.
The sum of the ages of a man and his son is 45 years. Five years ago, the product of their ages
was four times the man's age at the time. Find their present ages.

OR
Find the values of k for which the given equation has real and equal roots:

x2+k@x+k-1D+2=0
Find the zeroes of the polynomial 4x% + 5v/2x -3 by factorisation method and verify the
relationship between the zeroes and coefficient of the polynomial.
P and Q are points on the sides CA and CB respectively of AABC right angled at C. Prove that
AQZ + BP% = AB% + PQ2.

OR

Ina AABC, D and E are points on the sides AB and AC respectively. Show that DE | | BC: AB =

10.8 cm, BD = 4.5 cm, AC = 4.8 cm, and AE = 2.8 cm.

A bag contains 24 balls of which x are red, 2x are white and 3x are blue. A ball is selected at

[2]

[2]

[2]

[2]

[2]

[2]

[3]
[3]

[3]

[3]

[3]
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32.

33.

34.

33.

36.

random. What is the probability that it is

i. Not red?
ii. White?

In figure, O is the centre of a circle of radius 5 cm. T is a point such that OT = 13 cm and OT

intersects circle at E. If AB is a tangent to the circle at E, find the length of AB. where TP and

TQ are two tangents to the circle.

P
A
5 \
E
| P '
5
B
The mean of the following frequency distribution is 57.6 and the total number of observations
is 50.
Class 0-20 20-40 40 - 60 60 - 80 80-100 100-120
Frequency 7 f 12 £ 8 5

Find f; and f,.

Find the difference of the areas of two segments of a circle formed by a chord of length 5 cm

subtending angle of 90° at the centre.

Five years hence, father's age will be three times the age of his son. Five years ago, father was
seven times as old as his son. Find their present ages.
There are two poles, one on either bank of a river just opposite to each other. One pole is 60 m

high. From the top of this pole, the angle of depression to the top and foot of the other pole are

30° and 60° respectively. Find the width of the river and height of the other pole.

[3]

[3]

[5]

[5]

[5]
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Solution
Class 10 - Mathematics

Confidence Examination (2020-21)

Part-A
1.1376 =2 X 2 X 2 X 2 X 2 x 43=2° x 43
15428 =2 X 2 X 7 x 19 x 29=22 x 7 x 19 x 29
HCF =22=4
LCM = 2% x 43 x 7 x 19 x 29=530 7232
OR
V21 = \/§ X 4/17 is an irrational number because \/§ and /7 are irrational being square roots of prime
numbers.
2. We have the following equation,
22+z+1=0
Substituting x = 0, we get
02+0+1
=0+0+1
=1z RHS
S Forx=1,x2+x+1#0.
Hence, x = 1 and 0 are solution of x2 + x + 1.
3. We have to determine the values of m and n so that the following system of linear equations have infinite
number of solutions:
Cm-1)x+3y-5=0
3x+(n-1y-2=0
Itis given that 2m-1)x + 3y-5=0...(1)
where a; = 2m — 1,by = 3,¢; = —5
3x+(n-1)y-2=0..(31)
where ay = 3,bp =n — 1,cy = 2
For a pair of linear equations to have infinite number of solutions

a _bh_a
ay by €
2m—-1 3 _ 5
3 T n-1" 2
2m-1 _ 5
3 2
or 2(2m-1) =15
or,4m-2=15
or,4m =17
m= 1
3 _5
and =5
or,5(n-1)=6
or,5n-5=6
or,5n=11
11
or,n = %
Hence, m = 14—7,n = 1?1
T-\-\____ '::l
—
4 f,a_gi‘)P
.a-F"FFF-

Since, OQ L OP and OR | RP
/QOR+ ZQPR+ /PRQ + ZQOR = 360°
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or, ZQOR + 46° = 180°
or, ZQOR = 180° — 46° = 134°
5. T, = 3"
=T =37 =9,
T, = 321 = 27,
T3=33*1=81,
Ty=3%"1=243
1st four terms are 9, 27, 81 and 243.
OR
A.P=10.0,10.5,11.0,11.5........
To find any term we need to have first term and common difference.
Now, here first term(a) = 10.0
Common difference (d) = 10.5-10.0 = 0.5
We have,
anp=a+(m-1d
= CL11=10+(11—1)><0.5
=10+10 x0.5
=10+5
=15
6. Given AP: 75, 67, 59, 51,...
Common difference = 67 - 75 = -8
S5th term =51-8 =43
6th term =43-8 =35
7.px> +4x+1=0
The equation has real roots if D 2> 0
ie. (4)2 —4p >0

ie.16 —4p >0
=16 > 4p
=p=4
OR
The given equation is 22 — maz + 1 = 0. Here,a = 1,b= —mandc =1

S.D=(m)?-4 X 1x 1=m?-4
The given equation will have real and equal roots, if
D>0=m*—4>0
=m?>4
=m >4
=m > +2
m=—2andm = 2.
8.:.n LZACB = 50°
Z/CBA = 90° (Angle in semi-circle)
.. Z0OAB = 90° — 50°

= 40°
/BAT =90° — ZOAB
= 90° — 40°
= 50°
9. The line which intersects a circle in two distinct points is called secant.

OR
OP | PR[." Tangent and radius are | to each other at the point of contact]
ZOPQ =90° —50° = 40°
OP = OQ [By isosceles triangle’s property]
/Z0PQ=/0QP = 40°
In AOPQ,
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10.

11.

12.

13.

14.

15.

16.

17.

= /0+/P+/Q=180°
= /Z0+40" +40° = 180°
Z0=180" —80° = 100°.

Here,
AD __ AE AD _ 18
BD — CE72 1;2 T 54
X
. AD = =i 2.4cm
Herea—9d 7—9=—-2andn =14

Now, Sj, = —[2a+(n 1)d]
814— —[2><9 + (14 — 1)( 2)]
= 7[18 26]
=7X(-8)
=—56
We have,
LHS = tan# - cotf
— LHS = sind  cosf

cosf sin 6 ) ( , )
sin2 §—cos? @ sin® —(1—sin= 6
= LHS = si2nt9cos() ) - singcose
_ sin”f—1+4sin“f _ 2sin“6—-1
= LHS = sin @ cos " sinfcosf® RHS

LHS = tan@ + tan (90° - 6)
= tanf + cotf = sin 6 + cosf __ sin’6+cos’f _

1

cosf sin 0 sin# cos @

= secfcosect) = secé?sec(QOO —6) = RHS
Let the radius of both sphere & cone be r.

Let the height of the cone be h.

Volume of sphere = %777“3
and volume of cone = %m"Qh

ATQ, %71'7‘3 = %71'7‘211 (given, volumes are equal)
Or,4r=h

So, Height of cone = 4r

Diameter of sphere = 2r

diameter of sphere : height of cone=2r:h=2r:4r=1:2

Given A.P is: —4%,—3,—1%
— 4Ll g-11

Here, a = 42, d= 12

21st term is given by

a21 =a+ 20d

= - + 20 x =
—9+60
2

- 2

=255

Total number of outcomes = 52
i. Number of face cards = 12

Probability of drawing a face card = 52 = %

ii. Number of cards which are neither a king nor red = 24
Probability of drawing a card which is neither a king nor a red card =

sin @ cos 0

Let Home represented by point H(4, 5), Library by point L(-1, 3), Skate Park by point P(3, 0) and School by S(4,

2).

i. (b) Distance between Home and School, HS = \/(4 —4)® + (2—5)% = 3 metres
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18.

19.

20.

21.

22.

ii. (c) Now, HL = \/(—1 — 4)2 +(3— 5)2 =4/25+4 =+/29

Ls= /4~ (1)) +(2-3)* = V251 1 = V26
Thus, HL + LS = /29 + 4/26 = 10.48 metres
So, extra distance covered by Ramesh is = HL + LS - HS = 10.48 - 3 = 7.48 metres

i, (d)Now,HP=\/(3—4)2+(O—5)2 =1+25=+/26

ps=/[4-3%+(2- 0% =yITd=15
Thus, HP + PS = \/% + \/5 =7.33 metres
So, extra distance covered by Pulkit is = HP + PS - HS = 7.33 - 3 = 4.33 metres
iv. (a) (-1, 3)
v. (c) (4, 5)
i. (@) 450 km
ii. (d) 600 km
iii. (b) AB
iv. (a) Second, 150 km
v. (b) 750 km
Sum of the frequencies = 181
=x+15+18+30+50+48 +x=181
= 2x+161 =181
=x=10
Thus, the missing frequencies are 10 and 10.
Clearly, the modal class is 13 - 15, as it has the maximum frequency.
s 1=13,h=2,f=50,f,=30,f, =48
(fi—fo)
Mode, Mo = ! {h X @ ot }
50—30
—13+2 { ST }
=13+2x 2
=13+1.81=14.81
i. (d) 14.81
ii. (b) 10
iii. (@) 13- 15
iv. (c) 15
v. (b) Median
i. (b) CSA of cylindrical portion + CSA of the conical portion
ii. (@) mr? (57 + h) cubic units
iii. (c) 11088
iv. (c) X 332640
v. (d) 2:1

Part-B

The given rational number is % .

It’s seen that, 125 = 53 is of the form 2™ x 5% where m =0 and n = 3.
So, the given number has terminating decimal expansion.

o1z (18x2%) g4
95 = T, = Toon = 0104

Let the required ratio be k:1.
Then, by the section formula, the coordinates of P are
P (M —9k+5)
E+1 7 k+1
4k—3 —9k+5 - L
i 2 and = —b5[.' P(2, 5) is given]
= 4k-3=2k+2and-9k +5=-5k-5
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23.

24,

25.

= 2k=5and 4k =10

= k= % in each case.

So, the required ratio is % : 1, which is 5:2
Hence, P divides AB in the ratio 5:2.

OR
B| (0,2b)
(=
P
%5,
o] A
(0,0 {2a,0)

Let A(2a, 0), B(0, 2b) and O(0, 0) are the vertices of right-angled triangle
Coordinate of C ( 2a+0 ﬂ)

2 02
i.e. (@, b)

Hence, C is Equidistant from the vertices.

i. Quadratic polynomial is 2 — (sum of zeros)z -+ product of zeros

.". Required polynomial = 22 — (0) 4 /2 = 22 + /2

ii. Quadratic polynomial is 22 — (sum of zeros)z + product of zeros
. Required polynomial = 22 — (2+ v/3)z + (2 — /3)

iii. Quadratic polynomial is > — (sum of zeros)z + product of zeros
.". Required polynomial = 2% — 21/5z — /5

iv. Quadratic polynomial is 2 — (sum of zeros)z -+ product of zeros
.". Required polynomial = 222 — 3z — 1

A tangent to a circle is perpendicular to the radius at the point of tangency.
Using this property and Pythagoras Theorem,

AO? = AP? + OP?

52 = AP? + 42

Thus, AP =4

A AO=5cm

1+sin A
L.H.S. A/ s A
- 1+sin A % 1+sin A
- 1-sin A 1+sin A

(1+sin 4)° . | B
- \/—%[ (a—i_b)(af—b)_az_b?}

_J A g 5020 — cos?

- e ot

= Lsind 1 snd _ g4 +tand=R-H.S.
cos A cos A cos A

OR
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26.

27.

28.

(cscA—sinA)(secA —cosA)(tan A+ cot A) =1
= (SmLA —sinA) (ﬁ —cosA) (ﬁ#—cotﬁl)

_ (1-sin’4 1—cos® A 1+cot? A
T sin A cosA cot A
_ cos’A sin® A . cosec’A
" sind cos A cot A
cosec? A

cot A

. 1 sin A
=sinA- A — B2
s cos sin2 A cosA

=1=R.H.S. proved.
Given,

=sinA-cos A

AR =4 cm.

Also, AR = AQ = AQ = 4cm
Now, QC = AC — AQ

= 1llem — 4em = Tem ...(0)
Also, BP = BR
..BP=3cmandPC=QC

.. PC=7cm [From (i)]

BC = BP+ PC

=3cm+ Tcm

= 10cm
Let us find HCF of 396 and 231 using Euclid’s division algorithm

396 = 231 x 1+ 165
231 =165 x 1+ 66
165 =66 x 2+ 33
66 =33 x2+0

So HCF(396,231) = 33

So 33 is common factor of 396 and 231

and co-prime numbers have common factor of 1 only.

. The 396 and 231 are not co-prime.

Let the present age of father be x years.

So, Son's present age = (45 - X) years.(Since sum of their ages is 45)
Five years ago:

Father's age = (x - 5) years

Son's age = (45 - x - 5) years

= (40 - X) years

It is given that five years ago, the product of their ages was four times the man's age at the time.

S (x-5)(40-x) = 4(x-5)
=(x-5)(40-x)-4(x-5)=0
= (x-5)[40-x-4]=0
= (36-x) (x-5)=0
= x = 36 ['." Father age can never be 5 years.". X - 5 7 0]
= Present age of man's = 36 years
Hence, present age of son's =45 -x
=45-36
=9
OR

6/11



29.

30.

Given, x2 +k(4x +k-1)+2=0
x2+4kx +Kk%-k+2=0.

Here,a=1,b =4k c=k>k+2=0

Now equation has real roots, D =0

i,e.b%-4ac=0

(4k)%-4 x 1 x (k*k+2)=0
16k% - 4k2 + 4k-8=0

12k% + 4k-8=0
4(3k%2+k-2)=0

3k2 +3k-2k-2=0
3k(k+1)-2(k+1) =0
(3k-2)(k+1) = 0

k= % ork=-1

4x% +54/2x -3

=4x% + 6+/22 — /22 -3

=2/2z(v2z + 3) — 1(v2z + 3)

= (222 — 1)(v/2z + 3)

= z = —1— and x = — - are zeroes of the polynomial

22 V2

If given polynomial is 4x2 + 54/2x - 3, then a=4,b = 54/2and c = -3

1 —3
Now, Sum of zeroes = oW + 5=
Also, =2 = V2 s
a 4 24/2

From (i) and (ii)
Sum of zeroes = _Tb

Product of zeroes = —L_ x =2
22 V2
c_ =3 i
Also, T T g e 3iv)

From (iii) and (iv)
Product of zeroes = <

_ 16 _ -5

2v2 T 242
(ii)

R (iii)

In right-angled triangles ACQ and PCB, we have

A

B Q C

AQ? = AC? + CQ? and PB%= PC2 + CB?
= AQ? + BP2= (AC? + CQ?) + (PC% + CB?)
= AQ?+BP2= (AC?+ BC?) + (PC% + QC?)

5 5 5 5 By Pythagoras theorem, we obtain
= AQ“ + BP# = AB~ + PQ AC? + BC? = AB? and PC? + QC? = PQ?
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We have,

] c

AB =10.8 cm, BD = 4.5 cm, AC = 4.8 cm and AE = 2.8 cm.
..AD=AB-DB
=10.8-4.5
= AD=6.3 cm
And, EC=AC- AE
=48-2.8
= EC=2cm
Now, 48 = 82 — L [.- oD = 6.3 cm]
E LB irczem)

Thus, DE divides AB and AC of AABC in the same ratio.
Therefore, by the converse of basic proportionality theorem,
We have,
DE || BC

31. Given that, A bag contains total number of balls = 24
Let, number of red balls = x
number of white balls = 2x
and number of blue balls = 3x
By condition, x + 2x + 3x = 24
= 6x=24
=Xx=4
.". Number of red balls=x=4
Number of white balls = 2x =2x4 =8
and number of blue balls = 3x =3Xx4 =12
So, total number of outcomes for a ball selected at random in a bag contains 24 balls.
=n(S)=24

1. Let E1 = Event of selecting a ball which is not red i.e., can be white or blue.
.. n(E7) = Number of white balls + Number of blue balls
= . nE)=8+12=20
n(E) 20 _ 5

n(S) ~ 24 6
2. Let Ey = Event of selecting a ball which is white

.. 1n(E2) = Number of white ball = 8
nE) 8 1
n(S) 24 3

.". Required probability =

So, required probability =

32. According to the question,
0 is the centre of a circle of radius 5 cm. T is a point such that OT = 13 cm and OT intersects circle at E.
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33.

34.

-.” OP _L TP [Radius from point of contact of the tangent]
... ZOPT = 90°

In right AOPT *

0T? = OP2 + PT?

= (13)2=(5)2+PT2 = PT=12cm

Let AP=xcm AE=AP = AE=Xcm

and AT = (12 - X)cm
TE=0T-OE=13-5=8cm

-."OE L AB [Radius from the point of contact]
.. ZAEO =90° = ZAET = 90°

In right AAET,

AT? = AE? + ET?
(12—z)?=2>+8

= 144+ x? — 24z = 2* + 64

= 24x=80=2x= % = 13—0cm
Also BE = AE = % cm
_ 107, 10 _ 20
= AB= 3 + 3 =3
Table:
Class Interval Frequency(f;) Mid value x; (f; X ;)
0-20 7 10 70
20 - 40 f1 30 30f;
40 - 60 12 50 600
60 - 80 f)=18-1; 70 1260 - 70f;
80-100 8 90 720
100-120 5 110 550
Y f; =50 E(fixxi):3200—40f1
We have,
7+12+ f1 + fy + 8+5 =50
= f2 =(18 - fl)

S(fixzi) _ 3200—40f,

we know that, mean

7. 50
=93200 — 40f; = 2880
=401 = 320
=f; =8

Hence, f; =8 and f; = (18-8) =10

Chord AB =5 cm divides the circle into two segments minor segment APB and major segment AQB. We have
to find out the difference in area of major and minor segment.
Here, we are given that 6 = 90°

Area of AOAB = %Base x Altitude = %r X r

Area of minor segment APB

— ™0 _ Area of AAOB

360°
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_ m’90° 1.2

360° 2
r? T

2
=> Area of minor segment = (T — 7) ..(d)

Area of major segment AQB = Area of circle — Area of minor segment

2 | @
w5 - g

2
= Area of major segment AQB = [%mﬁ + %} ..(ii)

Difference between areas of major and minor segment
(3 2, ) _ (= _ 1

= <4W + 2) ( 4 2)

_ 32 _m

=TT T ;’ 2 .

= Required area = Zﬂ'r2 +r= 57r'r'2 +r?

In right AOAB,

r? + 2 = AB?

= 2r2 = 52

2_ 25
= T7=5

Therefore, required area = [%7’1’ X % + %} = [%7‘(’—{— %]cmz
. Suppose, the present age of father be x years and the present age of son be y years.
According to the question,

Five years hence,

Father's age = (¢ + 5)years

Using the given information, we have

z+5=3(y+5)

=z—3y—10=0......... @

Five years ago,

Father's age = (z — 5)years

Son's age =(y — 5)years

Using the given information, we get

(z—5)="7(y—5)

=x—Ty+30=0....... (ii)
Subtracting equation (ii) from equation (i), we get
4y—40=0
=y=10
Putting y = 10 in equation (i), we get
z—30—-10=0
=z =40
Hence, present age of father is 40 years and present age of son is 10 years.
_____________ __A
20 A
OD
60-x
20° g0
E B
X X
&0°

D c Y
In AAEB
60—z o
ﬁ = tan30
60—z _ L o __ L

o= L (tan30s = %)

604/3 — v/3z = BE
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In AADC

60 _ o
0 — tan60

60 o o
m = tan60

ﬁ(ggfz) =43 (tan60° = \/3)
60 = 3(60 -x)

20=60-x

r=40m

Therefore, Height of the other tower is 40 m.
and hence the width of the river is 604/3 — v/3z = 60+/3 — 40v/3 = 20v/3 m
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ATOMIC ENERGY CENTRAL SCHOOL NO.4
RAWATBHATA

CLASS 10 - SCIENCE
Confidence Examination - 1 (2020-21)
Time Allowed: 3 hours Maximum Marks: 80

General Instructions:

1. The question paper comprises four sections A, B, C and D. There are 36 questions in the question
paper. All questions are compulsory.

2. Section-A - question no. 1 to 20 - all questions and parts thereof are of one mark each. These
questions contain multiple-choice questions (MCQs), very short answer questions and assertion -
reason type questions. Answers to these should be given in one word or one sentence.

3. Section-B - question no. 21 to 26 are short answer type questions, carrying 2 marks each.
Answers to these questions should in the range of 30 to 50 words.

4. Section—-C - question no. 27 to 33 are short answer type questions, carrying 3 marks each.
Answers to these questions should in the range of 50 to 80 words.

5. (v) Section-D — question no. - 34 to 36 are long answer type questions carrying 5 marks each.
Answers to these questions should be in the range of 80 to 120 words.

6. There is no overall choice. However, internal choices have been provided in some questions. A
student has to attempt only one of the alternatives in such questions.

7. Wherever necessary, neat and properly labeled diagrams should be drawn.

Section A
1.  Identify the substance oxidized and reduced in the following reaction. [1]
CuO(s) + Zn(s) — ZnO(s) + Cu(s)
OR
What is the action of sunlight on silver chloride?
2. Write the formula and then balance the following equation. [1]

Sodium hydroxide + Sulphuric acid - Sodium sulphate + Water

3.  The name of the compound CH3 - CHy - CHO is [1]
a) Ethanol b) Propanal
c¢) Ethanal d) Propanone

4. What happens to the other bulbs in a series circuit, if one bulb blows off? [1]

5.  An aqueous solution turns red litmus solution blue. Excess addition of which solution would  [1]
reverse the change?

6. Identify the device used as a spherical mirror or lens in case, when the image formed is [1]
virtual and erect in case. Object is placed between the focus and device, image formed is
enlarged and on the same side as that of the object.
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OR
Define the term refraction of light.
7.  The level of energy reaching from one to next higher trophic level decreases'. Suggest a reason [1]
for this occurrence.
8.  Identify the poles of a magnet in the figure. [1]

9. The given figure shows three resistors [11
A ————
Ry =61l
— A —
R.=20 Ry=60
A

Find the combined resistance.
OR
What causes the potential difference between the two terminals of a cell?

10.  Write the equation for the reaction of [1]

i. Iron with steam

ii. Calcium with water

11.  Name the substance which help in emulsification of fats. [1]
OR
What are characteristics of respiratory surface?
12.  Give an example where sex is determined by environmental factors. [1]
OR
Name the characters of pea plant used by Mendel for dihybrid cross.
13. What are the methods used by plants to get rid of excretory products? [1]
14. Assertion (A): Pure water is neither acidic nor basic. [1]

Reason (R): The pH of a solution is inversely proportional to the concentration of hydrogen

ions in it.
a) Both A and R are true and R is the b) Both A and R are true and R is the
correct explanation of the assertion. correct explanation of the assertion
A is true but R is false.
c) A is false but R is true. d) Ais true but Ris false.
15.  Assertion: Resistance of 50 W bulb is greater than that of 100 W. [1]

Reason : Resistance of bulb is inversely proportional to rated power.

a) Both assertion and reason are b) Both assertion and reason are
CORRECT and reason is the CORRECT but, reason is NOT THE
CORRECT explanation of the CORRECT explanation of the
assertion. assertion.

c) Assertion is CORRECT but, reason is d) Assertion is INCORRECT but, reason
INCORRECT. is CORRECT.

OR

Assertion (A): A compass needle is placed near a current-carrying wire. The deflection of the
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16.

17.

compass needle decreases when the compass needle is displaced away from the wire.

Reason (R): Strength of a magnetic field decreases as one moves away from a current-carrying

conductor.
a) Both A and R are true and R is b) Both A and R are true but R is not the
correct explanation of the assertion. correct explanation of of the
assertion
c) A is true but R is false. d) A is false but R is true.

Assertion (A): Pollen grains from the carpel stick to the stigma of the stamen.

Reason (R): The fertilised egg cells grow inside the ovules and become seeds.

a) Both A and R are true and R is b) Both A and R are true but R is not the
correct explanation of the assertion. correct explanation of the assertion.
c) A is false but R is true. d) A is true but R is false.

Read the following and answer any four questions:

While dealing with the reflection of light by spherical mirror set of sign convention is
followed. In this convention, the pole (P) of the mirror is taken as the origin. The object is
placed to the left of the mirror. All distance measured to the right of the origin is taken
positively. Distance to the left is measured negative. All distance parallel to the principle is
measured from the pole.

Olyject an e e

Iheeting ol

A Inchlent light

ipwards S e Ciislame Lowars
+ve] = Left e

1. Linear magnification produced by a concave mirror may be

a. lessthan 1 orequalto 1

b. more than 1 or equal to 1

c. less than 1, more than 1 or equal to 1
d. less than 1 or more than 1

ii. Magnification produced by a plane mirror

a. less than one

b. greater than one

C. Zero

d. equal to one

iii. If the magnification of -1 is to be obtained by using a converging mirror, then the object has

to be placed

a. between pole and focus

b. at the centre of curvature

c. beyond the centre of curvature

[1]

[4]
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d. at infinity

iv. The ratio of the height of an image to the height of an object known as

a. magnification
b. lateral displacement
c. refractive index

d. none of the above

v. If the magnification has a plus sign then the image is

a. virtual; erect
b. real; erect
c. virtual; inverted

d. real; inverted

18. Read the following and answer any four questions:
We hear and read about female foeticide, which is really a wrong practice. In some families,

be it rural or urban, females are tortured for giving birth to a girl child.

i. Female foeticide leads to which major problem in the country?

a. Female: male sex ratio is increasing
b. Female: male sex ratio is decreasing
c. Female: male sex ratio is unaffected

d. Male: female sex ratio is increasing

ii. Based on this pie chart, mention the most popular mode of contraception in Females across

the world.
Condom
20 Million
Female
Sterilzation
223 Million

Other Modern
Methods
T Million

Male Steriization_—
28 Milion

IUDs
189 Million

Injections
41 Million

Couples Using Any Modern Method: 661 Million

a. Female sterilisation (tubectomy)
b. IUD

c. Condoms

d. Oral pills

iii. Based on this column graph interpret the data-According to the latest survey, which

continent is popular in female sterilization techniques?

[4]
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19.

Female Sterilization Prevalence by Region, Latest Year

35

3: I

25

! I
15

10

0

J-h_a Europe  Lafin Am.and  Northem Oceania
Caribbean America

Percent of Couples Using Modem Contraception

a. Asia and Europe
b. Asia and Latin America and the Caribbean islands
c. Africa and Europe

d. Latin America and North America

iv. Name two sexually transmitted diseases by bacteria.
a. AIDS and Syphilis
b. AIDS and genital warts
c. Gonorrhoea and syphilis

d. Gonorrhoea and warts

v. From the bar graph interpret which state is highest and lowest in female sex ratio?
(females per 100 males in total population)

»F“v‘z—**@w:}‘@é\ »
@nﬁ‘sceoo\v\(\é\\" c‘°eb“° ,‘\ Q‘? \*vbgﬁ ‘ﬁ"p
k4
!.

a. Andhra Pradesh and Tamilnadu
b. West Bengal and Uttar Pradesh
c. Kerela and Delhi

d. Kerela and Haryana

Read the following and answer any four questions:
Nowadays chemical pesticides are excessively used to protect the crops from disease and
pests. The chemical is washed down into the soil. From soil, these are absorbed by the plant
along with water and minerals and from the water bodies. The human being occupies the top
level in any food chain, the maximum chemical gets accumulated in their bodies.
i. Accumulation of non-biodegradable pesticides in the food chain in an increasing amount at
each higher trophic level is known as:
a. eutrophication
b. pollution
c. biomagnification
d. accumulation

ii. The decomposer in an ecosystem:

a. convert organic materials to simpler forms

[4]
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b. convert inorganic materials to inorganic forms
c. convert inorganic materials into organics compound
d. do not breakdown organic compounds
iii. In a food chain consisting of grass, frog, bird and insects, where will the concentration of
harmful chemicals is maximum:
a. grass
b. frog
c. bird
d. insects
iv. Pesticides enter the food chain the level.
a. consumer
b. producers
c. both consumer and producer
d. none of these

v. Complete the following grass, , Human
a. goat
b. grasshopper
c. lion
d. mice
20. Read the following and answer any four questions: [4]
In electrolysis, the electric current is used to carry out decomposition. Hence it is an

electrolytic decomposition. During the electrolysis of water, the reaction involved is:
2H,0(1) — 2H; (g) + 05 (8)

i. During electrolysis, the charges carried by anode and cathode are respectively:

a. each +ve

b. each - ve

C. +Ve,-ve

d. - ve, + ve

ii. The gases released respectively at anode and cathode during electrolysis of water is:

a. Hy, Oy

b. 09, Hy

c. Oy, no gas at the cathode

d. Hy, no gas at the cathode

iii. The volume of gas collected at the cathode during the electrolysis of water is:
a. same as the volume of gas collected at the anode
b. half of the volume of gas collected at the anode
c. double of the volume of gas collected at the anode
d. one-fourth of volume of gas collected at the anode

iv. Which is the most popular method of hydrogen production according to the pie chart given
below?
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21.

22.
23.

24.

25.

26.

27.

28.

Electrolysis : 4

Coal Gasification : 18

Methane Steam Reforming : 48

Ol Reforming : 30

I Methane Steam Reforming [l Oil Reforming Coal Gasification Electrolysis

a. Methane steam reforming
b. Electrolysis
c. Oil reforming

d. Coal gasification

v. A spoon is to be silver plated. Which one of the following gives suitable materials for the

cathode, anode and electrolyte?

Cathode Anode Electrolyte
(€))] Pure silver Spoon Aqueous silver nitrate
(b) Spoon Pure silver Aqueous silver nitrate
(© Spoon Pure silver dil. Sulphuric acid
(d) Pure silver Spoon dil. Sulphuric acid
Section B

What is the structural difference between veins and arteries?
OR
How do the guard cells regulate opening and closing of stomatal pores?
Why is DNA copying is essential part of the process of reproduction?
Write the structural formula and IUPAC name of the follo
i. An alkyne with three C-atoms.

ii. An alcohol having one C-atom.

A dry pellet of a common base B when kept in open absorbs moisture and turns sticky. The
compound is also a by-product of chlor-alkali process.

1. Identify B.

ii. What type of reaction occurs when B is treated with an acidic oxide.

The image formed by a concave mirror is observed to be virtual, erect and larger than the
object. where should be the position of object ?Justify your answer .
An electric lamp, whose resistance is 20 Q, and a conductor of 4 Q resistance are connected to
a 6 V battery. Draw the circuit diagram. Calculate (a) the total resistance of the circuit, and (b)
the current through the circuit.
Explain how sex is determined in human beings .Also draw a suitable illustration to support
your answer.

OR

[2]

[2]
[2]

[2]

[2]

[2]

[3]

Work out the F2 generation ratio for Monohybrid cross in pea plant for the character of height of

plant.

A heater coil is rated 100 W, 200 V. It is cut into two identical parts. Both parts are connected

[3]
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29.

30.

31

32.

33.

34.

35.

36.

together in parallel to the same source of 200 V. Calculate the energy liberated per second in
the new combination.
Draw a diagram of human excretory system. Name and label the following parts: 3]
a)part where urine is stored
b)part through which urine is released outside the body.
A student dropped few pieces of marble in dilute hydrochloric acid contained in a test tube. 3]
The evolved gas was then passed through lime water. What change would be observed in lime
water? Write balanced chemical equation for both the change observed?
Two elements X and Y have atomic number 12 and 16 respectively. Write the electronic 3]
configuration of these elements. State the period of these elements. What type of bond will be
formed if these two elements combine together?

OR

An element X belongs to 3rd period and group 16 of the modern periodic table.

i. Determine the number of valence electrons and the valency of X.
ii. Molecular formula of the compound when X reacts with hydrogen and write its electron dot
structure.

iii. Name the element X and state whether it is metallic or non-metallic.

A non metal A is important constituent of our body and forms two oxides B &C. Oxide B is 3]
toxic whereas C causes global warming.
(a)Identify A,B & C
(b) To which group & period of perodic table does A belong? How many valence electrones
present in "A" element
a) Did Mendeleev have gaps in his periodic table? 3]
b) Mention any two limitations of Mendeleev classification.
c) What were the two criteria used by Mendeleev in creating his periodic table?
Explain the three pathways of glucose breakdown in living organisms. [5]
Cartilaginous rings in trachea are very important. Why?
OR

Answer the following questions:

i. Chamber where oxygenated blood from lungs is collected.
ii. The largest blood vessel in our body.
iii. The Muscular wall separating the right and left chambers.
iv. The blood vessel that carries blood from the heart to the lungs.

v. Define double circulation.

(a) Define Dispersion of light through prism and show it by ray diagram. [5]
(b) Explain : Why sun appears reddish at the time of sunrise and sunset.

(c) Why sky appears blue.

Describe the activity that shows that a current-carrying conductor experiences a force [5]

perpendicular to its length and the external magnetic field. How does Fleming’s left-hand rule
help us to find the direction of the force acting on the current-carrying conductor?
OR

i. Explain the meanings of words "electromagnetic" and "induction” in the term electromagnetic
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induction. List three factors on which the value of induced current produced in a circuit
depends.

ii. Name and state the rule used to determine the direction of induced current. State one practical
application of this phenomenon in everyday life.
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10.

Solution
Class 10 - Science

Confidence Examination - 1 (2020-21)

Section A

. Zinc(Zn) is oxidised to form Zinc oxide while Copper oxide (CuO) is reduced to form Cu.

OR
Place a small quantity of silver chloride (AgCl) taken in a watch glass under sunlight for some time. The
crystals slowly acquire a grey colour. On analysis, it is found that the sunlight has caused decomposition of

silver chloride into silver and chlorine.
Sunlight
2AgCl(s) —2Ag(s) + Cly(g)

. Sulfuric acid is neutralised by sodium hydroxide, to make sodium sulfate and water, according to the

following equation:
Sodium hydroxide + Sulphuric acid -~ Sodium sulphate + Water
2NaOH + H5SO4 — NayS04 + 2H,0

(b) Propanal
Explanation: This compound has -CHO as active radical. It's an aldehyde. Hence, -al suffix is used.

. If one bulb blows off in a series circuit then all other bulbs stop glowing because current stop flowing .
. Changing of red litmus to blue indicates that the solution is basic. So to neutralise the basic solution an acid

should be added. To revert the colour change that is to change blue litmus red, excess of acid needs to be
added so that the solution becomes acidic.

. The device used as a lens in case, when the image formed is virtual and erect and when an object is placed

between the focus and device image formed is enlarged and on the same side as that of the object is a convex
lens.

OR
The bending of a ray of light falling obliquely on a surface when it passes from one medium to another is
called refraction.

. According to 10% law (given by Lindeman in 1942), only 10% of energy reaches from one trophic level to next

as major amount of energy is lost as heat while, some are used in various metabolic processes. Thus, only 10
percent of the consumed food is stored as biomass.

. The poles of a magnet are marked in the figure as we know that out side magnet field lines moves N—S and

inside the Magnet field lines moves S—N .

. Let the three resistors are Rq Ry and R3. Here Ry and Ry are parallel to each other and Rj is in series with them

then equivalent resistance can be obtained by the given formula:
1i_ 1,1 _1,1_ 183 __4_ 2
: R R, Ry 6 ' 2 6 6 3
= R=230
Now, R and Rg are in series.
.". Combind resistance R4=R+Rg3
=3/2+6=15+6="T750hm
OR
Excess of electrons at the negative terminal and lack of electrons at the positive terminal (due to chemical
reactions) causes potential difference between the two terminals of a cell.

i. 3Fe(s) + 4H,0(steam) — FegOy4(s) + 4Hy(g)
ii. Ca(s) + 2H,0(1) — Ca(OH),, (s) + Hy(g)
iii. 2K(s) + 2H,0(1) — 2KOH(aq) + Hy
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11.

12.

13.

14.

15.

16.

17.

18.

19.

20.

21.

Bile
OR
Characteristics of respiratory surface:
1) It is thin walled and moist.
ii) It is highly vascular.
iii) Large surface area for gaseous exchange.
iv) Direct or indirect contact with source of oxygen.
In snail, sex is determined by environmental factors (temperature). Which is called TSD temperature
dependent sex determination.
OR
Shape and color of seed.
(i) Plant produces carbon dioxide as wastes during respiration and oxygen as waste during photosynthesis.
(ii) Excess of water in plants is removed through transpiration.
(iii) Some waste products like gums and resins are stored in older xylem tissue.

(b) Both A and R are true and R is the correct explanation of the assertion A is true but R is false.

Explanation: Pure water is neutral in nature because at 25° C, the concentration of hydrogen ion and
hydroxide ion remains equal.

(b) Both assertion and reason are CORRECT but, reason is NOT THE CORRECT explanation of the assertion.
Explanation: Both assertion and reason are CORRECT but, reason is NOT THE CORRECT explanation of the
assertion.

OR

(a) Both A and R are true and R is correct explanation of the assertion.
Explanation: Both A and R are true and R is correct explanation of the assertion.

(d) A is true but R is false.
Explanation: A is true but R is false.

i. (c) less than 1, more than 1 or equal to 1

ii. (d) equal to one
iii. (b) at the centre of curvature
iv. (a) magnification

v. (a) virtual; erect

i. (b) Female: male sex ratio is decreasing

ii. (a) Female sterilisation (tubectomy)
iii. (b) Asia and Latin America and Caribbean islands
iv. (c) Gonorrhea and syphilis

v. (c) Kerela and Delhi

i. (c) biomagnification

ii. (b) convert organic material to inorganic forms
iii. (c) birds
iv. (b) producer

v. (a) goat

L()+,-

ii. (b) Oy, Hy
iii. (c) double of the volume of gas collected at anode
iv. (a) methane steam reforming

V. Cathode Anode Electrolyte

b) Spoon Pure silver Aqueous silver nitrate

Section B
Arteries carry blood from the heart to various organs of the body under high pressure so they have thick and
elastic walls. Veins collect the blood from different organs and bring it back to the heart. The blood is no
longer under great pressure so the walls are thin with valves to ensure that blood flows only in one direction.
OR
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22.

23.

24.

25.

26.

27.

28.

The swelling of guard cells due to osmosis of water causes opening of stomatal pores while shrinking of guard
cells closes the pores. Opening and closing of stomata occurs due to turgor changes in guard cells. When
guard cells are turgid, stomatal pore is open while in flaccid conditions, the stomatal aperture closes.
1) DNA copying provides cellular apparatus in the daughter cells.
2) DNA in daughter cells will be able to control the functioning of daughter cells.
3) DNA copies will retain the traits.
i. CHs-CHy — C H,- COOH

Bu tanoic acid

Propyne
iii. H3C — OH

Methanol
i. Base B is sodium hydroxide (NaOH).
ii. When B is treated with an acidic oxide, then neutralization reaction occurs producing salt and water.
iii. 2NaOH(s) + CO:(9) —  Na2CO3(s) + HxO0(l)
Sodium hydroxide =~ Carbon dioxide (Acidic oxide) Sodium carbonate (Salt) Water

When the image formed is virtual, erect and enlarged then object should be placed between focus and pole of
the concave mirror.

-

L I

— F /-‘

Figure: An electric lamp connected in series with a resistor of 4 Q to a 6 V battery.

“IHAH) — (D

a. The resistance of electric lamp, R1 = 20 Q,
The resistance of the conductor connected in series, R2 =4 Q.
Then the total resistance in the circuit R=R1+ R2Rs=20Q +4 Q =24 Q.
The total potential difference across the two terminals of the battery V=6 V.
b. Now by Ohm’s law, the current through the circuit is given by I = V/Rs = 6 V/24 Q = 0.25 A.

OR

Resistance of heater coil,
V2
R="F
(200)?
100
_ 200x200
100

40002
As the coil is cut into two identical parts, resistance of each part= % = 20012
When connected in parallel, the net resistance is given by

11, 1
R_p‘200+200
1 _ 2
= R, = 200
...Rp:].OOQ

Energy liberated = P X t
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oy (200
=7 Xt="15 %1
= 400]

.". Energy liberated per second in the new combination is 400]
29. refer NCERT TEXTBOOK
30. When CaCOg(marble )reacts with dil. HCl (Hydrochloric acid) then CO, gas evolved as shown by chemical

reaction
CaCOs(s) + 2HCl(ag) — CaCly(ag) + H,O(1) + CO5(g)

When this gas is evolved and is passed through Ca(OH),(lime water)It becomes milky due to the formation of
insoluble Calcium carbonate( CaCOg)

C&(OH)Q + COQ (g) — CaCO3 (S) + HgO(l)

But milkiness disappears i.e. when CO9 gas is passed in excess through CaCOg (s), soluble calcium bi

carbonate is formed

CaCOs(s) + COy(g) + H,O(l) — Ca(HCOs3),(aq)

31. a. The electronic configuration is as shown below:

k L M N
X= 2 8 2
Y= 2 8 6

b. Both elements X and Y have three shells, so they belong to the 3rd period of the periodic table.
c. Electrovalent or ionic bond, as X is a metal (2 valence electron) and Y is a non-metal(6 valence electron).
OR

i. The element X belong to 3rd period and group 16 of the modern periodic table. Hence, its atomic number

is 16. As 3rd period refers to the 3 number of shells.
K LM
Its electronic configuration = 2, 8, 6

Its valency electrons = 6
Its valency is (8 - 6) = 2.
ii. Molecular formula of the compound X with hydrogen is HyX.

Its electron dot structure is as follows:

i

iii. Name of the element X is sulphur(S) it lies below oxygen in the modern periodic table. It is a non-metal, as
it is present at extremely left side of the modern periodic table and has tendency to gain electron thus,
have electronegative behaviour.

33.
34. The breakdown of glucose can be shown by following diagram:

Absence of

oxygen
Eihanol + Carbon dioxide + Energy
{in yeast) [2-carbon molecule)
In
cytoplasm Lack of oxyvgen
Glucnss —— Pyruvate — Laectic acid + Enerpy

[irn onar

(-carbon [3-carbon muscle cells)

[3-carbon molecule)
molecule] maolecule)

FPresence ol

ORVEET .

n Carbon dioxide + Waler + Energy
in

mitochorcleial

In all organisms, a molecule of glucose (6 carbon molecule) is first converted into 2 molecules of pyruvate (3
carbon molecule) in cytoplasm and is termed GLYCOLYSIS.

Further breakdown of pyruvate can take any of three pathways:

In Yeast: In yeast, breakdown of pyruvate take place in absence of oxygen. Due to this, it is called anaerobic
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35.
36.

respiration. Pyruvate is broken down into ethanol and carbon dioxide and energy. This process is also named
fermentation process.
In muscle cells: During strenuous physical activity, the energy demand from muscle cells suddenly increases.
This is compensated by anaerobic respiration in muscle cells. In such a situation, pyruvate is broken down
into lactic acid and energy.
In mitochondria: In this case, breakdown of pyruvate takes place in presence of oxygen. Due to this, it is
called aerobic respiration. Pyruvate is broken down into carbon dioxide and water and energy. Aerobic
respiration occurs in most of the living beings, producing, more ATP as compared to other process of
anaerobic respiration.

OR

i. The oxygenated blood from the lungs comes back to the left atrium through a pair of the pulmonary vein.
ii. Aorta is the largest blood vessel in our body.
iii. The right atrium and left atrium separated by the atrial septum. The right and left ventricle separated by
the ventricular septum.
iv. The pulmonary artery is the blood vessel that carries blood from the heart to the lungs

The sectional view of the human heart is as follows:

pulmanary ariery
Fi

pulmonary

wahe . il vaive

Fricuspid

valve - aoric vake

fight veinmice e et
cRoss SeeTion

As per NCERT

The activity to demonstrate that a current-carrying conductor experiences a force perpendicular to its length
and the external magnetic field can be explained as follows:

Activity: To show the effect of magnetic field on a current-carrying conductor

Materials Required: For this, we need to take a small aluminum rod, a horseshoe magnet, battery, plug key,
wires, and a stand.

1. Suspend an aluminum rod horizontally from the stand and two wires at the ends of it are tied. The wires
are connected to a Rheostat, battery and a key so that a circuit is completed,

ii. Place a horseshoe magnet in such a manner that the aluminum rod is between the poles of a magnet.
Assume that the above the aluminum rod is South pole of the magnet and below, the north pole of the
magnet. Insert the plug key and current is supplied to the rod.

Observation: the aluminum rod is deflected towards the left direction
On changing the direction of the current, the rod is deflection in the right direction.
Hence, it demonstrates that a current-carrying conductor experiences a force perpendicular to its length and
the external magnetic field
The direction of the magnetic field can find out with the help of Fleming's left-hand rule. Let current is
moving in an anticlockwise direction, then the direction of the magnetic field will be in clockwise direction
i.e. at the top of the loop whereas vice-versa in case of the clockwise direction of the current.
OR

The word "electromagnetic” is related to the interrelation between electric current I and magnetic field B.
While "Induction” is the process of giving rise to something. So the process of generation of an electric
current I from magnetic effects B is called electro -magnetic induction.
Three factors which affects the electro-magnetic induction are:

i. The number of turns in a coil

ii. The strength of magnet used and
iii. The speed by which magnet is pushed into the coil.
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Fleming's right-hand rule used to determine the direction of induced current.
Electric generator is based on the principle of electromagnetic induction.
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ATOMIC ENERGY CENTRAL SCHOOL NO.4
RAWATBHATA

CLASS 10 - SOCIAL SCIENCE
Confidence Test 1 (Part A)

Time Allowed: 31 minutes Maximum Marks: 16
1.  Why was the Treaty of Vienna drawn up in 1815? [1]
a) To divide the German Confederation b) To restore the monarchies

of 39 states

c¢) To abolish tariff barriers d) None of these

In which treaty Greece was recognised as an independent nation? [1]
a) Treaty of Geneva b) Treaty of Vienna
c) Versailles treaty d) Treaty of Constantinople

The leader of the peasants in the Gudem Hills of Andhra was: [1]
a) Alluri Sitaram Raju b) Venkata Raju
¢) Jawahar Lal Nehru d) Baba Ramchandra

Which one of the following is not true regarding the Gandhi-Irwin Pact of 1931? [1]
a) The British government agreed to b) The British government agreed to

grant independence release the political prisoners

¢) Gandhiji consented to participate in d) Mahatma Gandhiji decided to call off

a Round Table Conference the Civil Disobedience Movement
Which one of the following method is used to break up the force of the wind? [1]
a) Multiple cropping b) Strip cropping
¢) Contour ploughing d) Terrace farming

Reena lived with her family in a small village on the outskirts of Diphu in Assam. She enjoys [1]
watching her family members clearing, slashing and burning a patch of land for cultivation.

She often helps them in irrigating the fields with water running through a hamboo canal from

the nearby spring. She loves the surroundings and wants to stay here as long as she can, but

this little girl has no idea about the declining fertility of the soil and her family’s search for

fresh a patch of land in the next season. Name the type of farming Rinjha’s family is engaged

in.
a) Commercial Farming b) Plantation Farming
¢) Intensive Subsistence Farming d) Jhumming Farming

What is the correct meaning of agglomeration economies? [1]
a) Many industries tend to come b) Many industries set up in rural

together to make use of the Centers
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10.

11.

12.

13.

14.

15.

advantages offered by urban centers

c) Industries are basically agro-based d) Industries set up produce raw

material for the secondary sector

The Indian network is the largest in the world.
a) roadways b) railway
c) postal d) waterways

Name the headquarters of the European Union.

a) Brussels b) Amsterdam

c) London d) Germany

is the political head of the municipality.

a) District Collector b) Panch

¢) Municipal chairperson d) Sarpanch
Which party accepts parliamentary democracy as a means of promoting the interests of the
working class, farmers, and the poor?

a) Communist Party of India b) Indian National Congress

¢) Communist Party of India - Marxist d) Bhartiya Janta Party
On which counts the record of democracies is not impressive?

L. It is attentive to the needs and demands of the people.
II. It is largely free of corruption.
III. It improves the quality of decision making.

IV. It is accountable and responsive.

Choose the correct one from the given.
a) Only III b) IIT and IV
c)IandII d) [, IT and III

Limitation of per capita income criteria might be due to:

a) Increase in the number of poor b) Increase in income of rich
population
c) Increase in income of the poor d) Increase in the number of rich
people

How can we generate employment in urban areas?
a) Setting up a flour mill b) Opening a cold storage

c) Setting up an agricultural bank d) Promoting tourism

Identify the incorrect option from the given statement:

a) Collateral is an asset that the lender b) Property such as land titles, deposits
owns and uses this as a guarantee to with banks, livestock are collateral
a lender until the loan is repaid. used for borrowing.

[1]

[1]

[1]

[1]

[1]

[1]

[1]

[1]
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c) Interest rate, collateral and d) If the borrower fails to repay the

documentation requirement, and the loan, the lender has the right to sell
mode of repayment together the asset or collateral to obtain
comprise what is called the terms of payment.

credit.

16.  To achieve the objective of globalisation, the Government of India during the1990s allows
which of the following?

a) Convertibility of Indian currency b) Convertibility of Indian currency
into dollar only into pound sterling only

c) Partial Convertibility of Indian d) Full Convertibility of Indian
currency currency

[1]
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ATOMIC ENERGY CENTRAL SCHOOL NO.4
RAWATBHATA

CLASS 10 - SOCIAL SCIENCE
Confidence Test 1 (Part B)

Time Allowed: 2 hours and 30 minutes Maximum Marks: 64
1. Outline the features of Vienna Treaty. [3]1
OR
Explain the three features of the class of landed aristocracy of Europe.
2. How did nationalism and the idea of nation-state emerge? Describe. [51
OR

Describe any five measures introduced by the French Revolutionaries to create a sense of
collective identity amongst the French people.

3.  Read the source given below and answer the questions that follow: [4]
The first clear expression of nationalism came with the French Revolution in 1789. France was
a full-fledged territorial state in 1789 under the rule of an absolute monarch. The political and
constitutional changes that came in the wake of the French Revolution led to the transfer of
sovereignty from the monarchy to a body of French citizens. The revolution proclaimed that it
was the people who would henceforth constitute the nation and shape its destiny. From the
very beginning, the French revolutionaries introduced various measures and practices that
could create a sense of collective identity amongst the French people. The ideas of La Patrie
and Le Citoyen emphasised the notion of a united community enjoying equal rights under a
constitution. A new French flag, the tricolour, was chosen to replace the former royal
standard. The Estates-General was elected by the body of active citizens and renamed the
National Assembly. New hymns were composed, oaths taken and martyrs commemorated, all
in the name of the nation. A centralized administrative system was put in place and it
formulated uniform laws for all citizens within its territory. Internal customs duties and dues
were abolished and a uniform system of weights and measures was adopted. Regional dialects
were discouraged and French became the common language of the nation.

Answer the following MCQs by choosing the most appropriate option:
i. What was the major change that occurred in the political and constitutional scenario due to
the French Revolution in Europe?
a. Transfer of sovereignty from a body of French citizens to the monarchy
b. Establishment of the Congress of Vienna
c. Establishment of Custom Union
d. Transfer of sovereignty from the monarchy to a body of French citizens
ii. Mention the proclamation of the French Revolution.
a. The French people would constitute the nation and shape its destiny
b. The monarchy would constitute the nation and shape its destiny
c. The absolutist would constitute the nation and shape its destiny
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d. The Napolean would constitute the nation and shape its destiny

iii. Which of the following is incorrect with respect to "measures and practices which created a
sense of collective identity"?

a. The Estates-General was elected by the body of active citizens
b. New hymns were composed and oaths were taken
c. Regional dialects were discouraged
d. A new royal standard flag was chosen to replace the tricolor French flag
iv. Which one of the following types of government was functioning in France before the

revolution of 1789?

a. Dictatorship

b. Military

c. Body of French Citizen
d. Monarchy

Mention three main proposals with reference to the Non-Cooperation Movement, as suggested [3]
by Mahatma Gandhi?

Critically examine the reasons of conflict between the Congress and the Muslim League. Why  [5]
did the Muslim League fail to respond to the call of United Struggle during the Civil

Disobedience Movement?

Study the picture and answer the question that follows: [2]

Indian workers in South Africa march through Volksrust on 6th November 1913. Who was

leading them?

a) Mahatma Gandhi b) Subhash Chandra Bose

c) Pt. Jawaharla Nehru d) Lala Lajpat Rai

How can the land be saved from degradation? 3]
Read the extract given below and answer the questions that follow: [4]
Tea: Tea cultivation is an example of plantation agriculture. It is also an important beverage

crop introduced in India initiative by the British. Today, most of the tea plantations are owned

by Indians. The tea plant grows well in tropical and sub-tropical climates endowed with deep

and fertile well-drained soil, rich in humus and organic matter. Tea bushes require a warm

and moist frost-free climate all through the year. Frequent showers evenly distributed over

the year ensure continuous growth of tender leaves. Tea is a labor-intensive industry. It

requires abundant, cheap and skilled labour. Tea is processed within the tea garden to restore

its freshness. Major tea-producing states are Assam, hills of Darjeeling and Jalpaiguri districts,
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West Bengal, Tamil Nadu and Kerala. Apart from these, Himachal Pradesh, Uttarakhand,
Meghalaya, Andhra Pradesh and Tripura are also tea-producing states in the country. In 2016
India was the second-largest producer of tea after China.

Coffee: Indian coffee is known in the world for its good quality. The Arabica variety initially
brought from Yemen is produced in the country. This variety is in great demand all over the
world. Initially, its cultivation was introduced on the Baba Budan Hills and even today its
cultivation is confined to the Nilgiri in Karnataka, Kerala and Tamil Nadu.

Answer the following MCQs by choosing the most appropriate option:
i. What is common between Tea and Coffee?

a. They are beverages

b. They are plantation crop

c. They grow in the hilly region
d. All of these

ii. Which of the following conditions can spoil tea crops?

a. Frequent rains widespread throughout the year

b. Clayey soil which has a high water-holding capacity
c. Deep fertile well-drained soil

d. Warm, moist and frost-free climate

iii. India competes with for its of tea.

a. China, consumption
b. Yemen, production
c. China, production

d. Yemen, consumption

iv. Takmg a hmt from the g1ven picture identify what are these women engaged in?

a. Sowing the tea and coffee seeds
b. Plucking coffee beans
c¢. Pruning tea bushes

d. Plucking tea leaves

Find out places linked by the National Highways 2 and 3. [3]
'Railways are the principal mode of transportation in India'. Explain. [5]
OR

Describe the physical and economic factors that influenced the distribution pattern of the Indian
Railways network.
Read the extract given below and answer the questions that follow: [4]

Two different sets of reasons can be given in favour of power-sharing. Firstly, power-sharing
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is good because it helps to reduce the possibility of conflict between social groups. Since social
conflict often leads to violence and political instability, power-sharing is a good way to ensure
the stability of political order. Imposing the will of the majority community over others may
look like an attractive option in the short run, but in the long run, it undermines the unity of
the nation. The tyranny of the majority is not just oppressive for the minority; it often brings
ruin to the majority as well. There is a second, deeper reason why power sharing is good for
democracies. Power-sharing is the very spirit of democracy. A democratic rule involves
sharing power with those affected by its exercise, and who have to live with its effects. People
have a right to be consulted on how they are to be governed. A legitimate government is one
where citizens, through participation, acquire a stake in the system. The first set of reasons is
Prudential and the second is moral. While prudential reasons stress that power-sharing will
bring out better outcomes, the former emphasises the very act of powersharing as valuable.

Answer the following MCQs by choosing the most appropriate option:
i. Which reasons help in avoiding conflict in society and preventing majority tyranny?

a. Prudential reasons

b. Moral reasons

c. Financial reasons

d. Political reasons

ii. stress that power-sharing will bring out better outcomes, whereas

emphasise the very act of power-sharing as valuable.

a. Moral reasons, Prudential reasons

b. Prudential reasons, Moral reasons

c. Political reasons, Financial reasons

d. Prudential reasons, Political reasons

iii. Complete the given table by choosing a suitable option

Prudential Reasons Moral Reasons

1. It is based on a careful calculation of gains and |1. It is purely based on moral

losses considerations.

2. Example: Reservation of constituencies for
] ) 2. Example: (?)
women in India.

a. Decentralisation of powers

b. Reservation of constituencies for minorities in India
c. Bothaandb

d. None of these

iv. Which of the following title best describes the given extract?

a. Forms of power-sharing

b. Outcomes and Lessons of power-sharing
c. Power-sharing is desirable

d. None of these

12. "Local government's have made a significant impact on Indian democracy. At the same time [5]
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14.
15.

there are many difficulties". Explain.

Explain merits and demerits of multi-party system. 3]
OR

How has the third tier of the government of our country been made more effective and powerful

by the constitutional amendment of 1990?

Explain the ways in which democracy can be redefined to make democracy more effective. 3]

Read the extract given below and answer the questions that follow: [4]

Organised sector covers those enterprises or places of work where the terms of employment

are regular and therefore, people have assured work. They are registered by the government

and have to follow its rules and regulations which are given in various laws such as the

Factories Act, Minimum Wages Act, Payment of Gratuity Act, Shops and Establishments Act,

etc. It is called organised because it has some formal processes and procedures. Some of these

people may not be employed by anyone but may work on their own but they too have to

register themselves with the government and follow the rules and regulations. Workers in the

organised sector enjoy the security of employment. They are expected to work only a fixed

number of hours. If they work more, they have to be paid overtime by the employer. They also

get several other benefits from employers. They get paid leave, payment during holidays,

provident fund, gratuity, etc. They are supposed to get medical benefits and, under the laws,

the factory manager has to ensure facilities like drinking water and a safe working

environment. When they retire, these workers get pensions as well. In contrast, the

unorganised sector is characterised by small and scattered units which are largely outside the

control of the government. There are rules and regulations but these are not followed. Jobs

here are low-paid and often not regular. There is no provision for overtime, paid leave,

holidays, leave due to sickness, etc. Employment is not secure. People can be asked to leave

without any reason. When there is less work, such as during some seasons, some people may

be asked to leave. A lot also depends on the whims of the employer. This sector includes a

large number of people who are employed on their own doing small jobs such as selling on the

street or doing repair work. Similarly, farmers work on their own and hire labourers as and

when they require.

Answer the following MCQs by choosing the most appropriate option:
i. Look at the following examples. Which of these are unorganised sector activities?

A. A teacher taking classes in a school
B. A headload worker carrying a bag of cement on his back in a market
C. A farmer irrigating her field
D. A doctor in a hospital treating a patient
E. A daily wage labourer working under a contractor
Options:
a.B,D,E
b.A /B, E
c.B,CE
d.A,B,C

ii. The employers in the sector refuse to follow laws that protect the labour.
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a. unorganised
b. organised
c. secondary
d. tertiary
iii. Which of the following option best describes the extract?
a. Classification of employment
b. Classification of unemployment
c. Classification of activities in the economy
d. Both b and ¢
iv. Kamla is a worker working in the organised sector. Which of the following is applicable for
Kamla?
a. She gets a regular salary at the end of the month
b. She got an appointment letter stating the terms and conditions of work when she joins
work
c. She gets a medical allowance
d. all of these
Why do you think that the formal sources of credit provide loans at reasonable interest rates? [5]
OR
Which government body supervises the functioning of formal sources of loans in India? Explain its
functioning.

How do logos and certification on cover help the consumers to buy standardized products? [3]
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10.

Solution
Class 10 - Social Science
Confidence Test 1 (Part A)

(b) To restore the monarchies
Explanation: Treaty of Vienna of 1815 with the object of undoing most of the changes that had come about
in Europe during the Napoleonic wars. (i.e. to restore the monarchies)

(d) Treaty of Constantinople

Explanation: Under the Treaty of Constantinople Greece was identified as an independent nation. This
Treaty of Constantinople was a part of the conference of Constantinople of 1832 The two parties involved
in this Treaty Britain Russia and France were on one side and on another side was Ottoman Empire.

(a) Alluri Sitaram Raju

Explanation: In the Gudem Hills of Andhra Pradesh, the colonial government had closed large forest
areas, preventing people from entering the forests to graze their cattle, or to collect fuelwood and fruits.
This enraged the hill people. Not only were their livelihoods affected but they felt that their traditional
rights were being denied. When the government began forcing them to contribute begar for road building,
the hill people revolted. Alluri Sitaram Raju came to lead them.

(a) The British government agreed to grant independence

Explanation: As per Gandhi-Irwin Pact ,Gandhiji consented to participate in a Round Table Conference in
London and the government agreed to release the political prisoners. In December 1931, Gandhiji went to
London for the conference, but the negotiations broke down and he returned disappointed.

(b) Strip cropping

Explanation: Strips of grass are left to grow between the crops. This breaks up the force of the wind. This
method is known as strip cropping. It is also used when a slope is too steep or when there is no alternative
method of preventing soil erosion. The most common crop choices for strip cropping are closely sown
crops such as hay, wheat, or other forages which are alternated with strips of row crops, such as corn,
soybeans, cotton, or sugar beets.

(d) Jhumming Farming

Explanation: ‘Slash and Burn’ is also called as Jhrumming agriculture. A patch of land is cleared by slashing
the vegetation and then the slashed plants are burnt. The ash; thus obtained is mixed with the soil and
Crops are grown.

This type of farming produces just enough crops to sustain the family. After a couple of seasons, the patch
is left fallow and a new patch of land is prepared for farming. This allows the earlier patch of land to
replenish its fertility through the natural process.

(a) Many industries tend to come together to make use of the advantages offered by urban centers
Explanation: Many industries tend to come together to make use of the advantages offered by the urban
centres known as agglomeration economies. Agglomeration economies are the benefits that come when
firms and people locate near one another together in cities and industrial clusters. Gradually, a large
industrial agglomeration takes place.

(c) postal
Explanation: The Indian postal network is the largest in the world. It handles parcels as well as personal
written communications.

(a) Brussels
Explanation: When many countries of Europe came together to form the European Union, Brussels was
chosen as its headquarters.

(¢) Municipal chairperson

Explanation: A Municipal Chairperson is the political head of the municipality. He inspects all the records
of the municipality and directs the secretary to submit all the records necessary for the inspection by the
government.
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12.

13.

14.

15.

16.

(a) Communist Party of India
Explanation: Formed in 1925, the Communist Party of India accepts parliamentary democracy as a means
of promoting the interests of the working class, farmers, and the poor.

(c)Iand II
Explanation: In substantive terms, it may be reasonable to expect from democracy a government that is
attentive to the needs and demands of the people and is largely free of corruption.

(b) Increase in income of rich

Explanation: Per capita income is an average income and this average may not represent the standard of
living of the people if the increased national income goes to the few rich instead of giving to the many
poor. If income goes to a few rich people this will create more inequality in the country and per capita
income will not represent the true standard of living of the people.

(d) Promoting tourism

Explanation: The contribution of tourism to total employment of the Country during 2009-10, 2010-11, and
2011-12 was 10.17%, 10.78%, and 11.49%, respectively. This contribution is increasing day by day and if
tourism will be promoted a number of jobs will be provided in the urban areas.

(a) Collateral is an asset that the lender owns and uses this as a guarantee to a lender until the loan is
repaid.

Explanation: Collateral is an asset that the borrower owns and uses this as a guarantee to a lender until
the loan is repaid

(c) Partial Convertibility of Indian currency

Explanation: Indian government allowed partial convertibility of rupee. Partial convertibility means to
buy or sell foreign currency like the dollar or pound sterling, for foreign transactions at a price determined
by the market. It is called partial convertibility because it does not cover capital transactions.
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Solution
Class 10 - Social Science

Confidence Test 1 (Part B)

1. The treaty of Vienna was drawn up in 1815 at Vienna, Austria. For this treaty the representatives of European
Powers-Russia, Britain, Prussia and Austria who had collectively defeated Napoleon, met at Vienna. The
meeting was hosted by the Austrian Chancellor Duke Metternich. The objective of Vienna Congress was
undoing most of the changes that had come about in the Europe during the Napoleonic War.

OR
During the mid-eighteenth century, a landed aristocracy was dominant class in Europe both politically and
socially.
i. The members of this landed aristocracy were united by a common way of life that cut across regional
division.
ii. They owned huge properties both in rural and urban areas.
iii. Their families were tied together by matrimonial relations and they wielded much power in their
respective countries.

2. 1. Nationalism and the idea of the nation-state emerged within the culturally and regionally diverse groups
of Europe.

ii. Socially and politically, a landed aristocracy was the dominant class on the continent. The members of this
class were united by a common way of life that cut across the regional division. They spoke French for the
purpose of diplomacy and in high society.

iii. Due to industrialisation and transformation of society, there emerged a middle-class consisting of
businessmen, working professionals, industrialists, labourers and working-class people.

iv. Industrialisation began in England in the second half of the 18th century but in France and German states,

it occurred only during 19 century. In its wake, new social groups came into being.
v. Out of these, the educated middle-class people thought of uniting the culturally compatible sections of
people in Europe by abolishing the privileges enjoyed by the aristocracy.
vi. It was among the educated liberal middle class that ideas of national unity and abolition of aristocratic
privileges gained popularity.
vii. Nations began to be perceived as having a definite territory, anthem, and flag, together with a Parliament
which was elected by property-owning men of the middle class.
viii. This led to nationalism and emergence of the idea of the nation-state.
OR
Measures introduced by the French Revolutionaries to create a sense of collective identity:

i. The first clear expression of nationalism came with the French Revolution of 1789.
ii. The ideas of la Patrie (the fatherland) and le Citoyen (the citizen) emphasized.
iii. The notion of a united community enjoying equal rights under a constitution.
iv. A new French flag, the tricolor, was chosen to replace the former royal standard.
v. The Estate General was elected by the body of active citizens and renamed the National Assembly.
vi. New hymns were composed, oaths taken and martyrs commemorated, all in the name of nation.
vii. A centralised administrative system was put in place and it formulated uniform laws for all citizens within
its territory. Internal customs duties and dues were abolished and a uniform system of weights and
measures was adopted

3. i.(d) Transfer of sovereignty from the monarchy to a body of French citizens
ii. (@) The french people would constitute the nation and shape its destiny
iii. (d) A new royal standard flag was chosen to replace the tricolor French flag
iv. (d) Monarchy
4. Gandhiji proposed that the movement should unfold in stages.
Gandhiji suggested three main proposals as follows:

i. Movement unfolds in many stages. Surrender of titles that the government awarded.
ii. A boycott of civil services, army, police, courts by lawyers and legislative councils, schools by teachers and
students and foreign goods.
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iii. In case the government used repression, a full civil disobedience campaign would be launched.

5. The important differences between the Congress and the Muslim League were over the question of
representation of Muslims in the future assemblies that were to be elected. Suspicion and distrust between
the two communities was also a major reason.

i. Muslim leaders were concerned about the minority status of Muslims in India. Negotiations over the
question of representation continued but all hopes of resolving the issue at the All Party Conference
disappeared when Mr. R. Jayakar of Hindu Mahasabha strongly opposed efforts at compromise. So when
Civil Disobedience began, there was an atmosphere of distrust and suspicion among the communities and
the Muslim response was lukewarm.

ii. The Congress had become visibly associated with the Hindu nationalist groups like the Hindu Mahasabha.
Alienated from Congress, large sections of the Muslims failed to respond to the call of a united struggle.
iii. The Muslims feared that the culture and identity of the minorities would be submerged under the
domination of a Hindu majority.
iv. The relations between Hindus and Muslims worsened as each community began organising religious
processions.
v. In 1927 the Congress and Muslim League tried to negotiate a compromise, but some important differences
remained unsolved.

6. (a) Mahatma Gandhi
Explanation: Mahatma Gandhi was leading the workers from Newcastle to Transvaal. When the marchers
were stopped and Gandhiji arrested, thousands of more workers joined the satyagraha against racist laws
that denied rights to non-whites.

7. 1. After deforestation, afforestation can be done.
ii. Proper management of grazing can be done.
iii. Shelter belts can be planted to save the land from degradation.
iv. Stabilisation of sand dunes by growing thorny bushes are some of the methods to check land degradation.
v. Proper discharge and disposal of industrial effluents and wastes after treatment can reduce land and
water degradation in industrial and suburban areas.
8. 1.(d) All of these
ii. (b) Clayey soil which has a high water-holding capacity
iii. (c) China, production
iv. (d) Plucking tea leaves
9. National Highway 2: runs from Delhi to Kolkata via. Faridab -Mathura -Agra - Kanpur - Allahabad -
Mughalsarai - Mohania - Sasaram - Aurangabad - Barhi - Dhanbad - Asansol - Durgapur .
National Highway 3: runs from Agra to Mumbai via. Dholpur - Gwalior - Shivpuri - Indore - Mhow - Dhule -
Nasik - Bhiwandi - Thane.
10. Railways are the principal mode of transportation for freight and passengers in India. There are various
reasons behind it.

1. At first place, Railways also make it possible to conduct multifarious activities like business, sightseeing,
and pilgrimage along with transportation of goods over longer distances.
ii. Apart from an important means of transport the Indian Railway has been great integrating force for more
than 150 years.
iii. Railways in India bind the economic life of the country as well as accelerate the development of the
industry and agriculture.
iv. The Indian Railways have a network of 7,031 stations spread over a route length of 63,221 km. with a fleet
of 7817 locomotives, 5321 passenger services vehicles, 4904 other coach vehicles and 228,170 wagons as on
31 March 2004.
OR
The distribution pattern of the Railway network in the country has been largely influenced by the
physiographic, economic factors:
i. The northern plains with their vast level land, high population density and rich agricultural resources
provided the most favourable condition for their growth. However, a large number of rivers requiring
construction of bridges across their wide beds posed some obstacles.
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ii. In the hilly terrains of the peninsular region, railway tracts were laid through low hills, gaps or tunnels.
The Himalayan mountainous regions too were unfavourable for the construction of railway lines due to
high relief, sparse population and lack of economic opportunities.

iii. Likewise, it was difficult to lay railway lines on the sandy plain of western Rajasthan, swamps of Gujarat,
forested tracks of Madhya Pradesh, Chhattisgarh, Orissa, and Jharkhand.

iv. The peninsular plateau region is also rich in mineral resources. As a result, railway tracks are spread over
this region.

v. The industrial region of the country is directly linked with the railways as well.

11. i (a) Prudential reasons
ii. (b) Prudential reasons, Moral reasons
iii. (a) Decentralisation of powers
iv. (c) Power-sharing is desirable
12. Impact of local self government on Indian democracy:

i. Constitutional status for local government has helped to deepen democracy.
ii. It has increased women's representation and voice in our democracy.

iii. Local government goes right upto the district level

Difficulties:

i. Gram sabhas are not held regularly.
ii. Most state governments have not transferred significant powers to local government.
iii. State governments do not provide adequate resources.
iv. Elections to these local bodies are not held regularly.
We are still a long way in realising the ideal of self government.
13. Merits:
i. Multi-party system allows a variety of opinions and interests to enjoy political representation.
ii. In this system people get a chance to make a smart and responsible choice between several candidates.
Demerits:
i. This system often becomes very messy.
ii. This multi-party system may sometimes lead to political instability.
OR
i. The basic idea behind decentralisation is that there are a large number of problems and issues which are
best settled at the local level.
ii. People have better knowledge of the problems in their own localities.
iii. Regular elections are held for the local government bodies at the level of village, block, district, towns and
cities.
iv. Seats are reserved for Scheduled Castes, Scheduled Tribes and other backward classes to ensure their
participation. One-third of the seats are reserved for women.
v. These local bodies generate their own revenue. Besides, the state governments are required to share some
powers and revenues with local government bodies.
14. Democracy can be redefined to make it more effective, by the following ways:

a. In democracy, the views of minorities should be respected and their needs and demands should not be
overlooked by the majority.

b. In a democracy, there should not be any discrimination based on caste, religion and gender.

c. In a democracy, people should have enough freedom and opportunity to enjoy their socio-economic rights.
People’s right should be given full respect. People should enjoy extensive rights from right to vote to
participate in general elections.

15. i.(0)B,CE
ii. (@) unorganised
iii. (c) Classification of activities in the economy
iv. (d) all of these

16. 1i. Formal sources of credit work according to the norms of Reserve Banks of India.
ii. The RBI monitors that the banks provide loans not just to the profit-making businessmen and traders, but
also to small cultivators, small scale industries, to small borrowers etc.
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iii. Rates of interest are fixed by RBI according to the instructions given by central government. Who works to
facilitate to poor farmers and small businessman.
iv. The formal sources to provide loan at low interest rate because people can increase their income and help
them in the overall development of the country.
v. Low interest rate helps the poor people to increase their economic condition.

OR
The Reserve Bank of India supervises the functioning of formal sources of credit in India. It is the central
bank of India.
Reserve Bank of India supervises the functioning of banks in the following ways :
o The RBI monitors that the banks actually maintain a minimum cash balance out of the deposits they
receive. Banks in India these days, hold about 15 percent of their deposits as cash.
o Similarly, the Reserve Bank of India ensures that the banks give loans not just to profit-making
businesses and traders but also to small cultivators, small scale industries, small borrowers etc.
o Periodically, banks have to submit information to the Reserve Bank of India on how much they are
lending, to whom, at what interest rate etc.
The logos and certification on cover help consumers get assured of the quality while purchasing the goods
and services because these are issued by the government organizations. The organizations that monitor and
issue these certificates allow producers to use their logos provided if they follow certain quality standards.
For some products that affect health and safety of consumers or of products of mass consumption like LPG
cylinders, food colours and additives, cement packaged drinking water, it is mandatory on the part of the
producers to get goods certified by government organizations
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